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Q-1

eng

If the (A) part of the sentence is fixed at its place, what will be the correct rearrangement of the sentence given below and in case you feel
the given sentence is in its correct sequence then mark option (5) i.e., no change required as your answer.

The finance ministry had argued that the central bank (A)/ eventually converged towards consumer price inflation, (B) /though consumer price inflation was
far higher (C)/ than the eventual target. WPI (D)/ should cut interest rates in response to this, (E)

01. ADBCE 02. ABCDE
03. ACBED 04. AECDB

05. No change required
If the (A) part of the sentence is fixed at its place, what will be the correct rearrangement of the sentence given below and in case you feel
the given sentence is in its correct sequence then mark option (5) i.e., no change required as your answer.

The finance ministry had argued that the central bank (A)/ eventually converged towards consumer price inflation, (B) /though consumer price inflation was
far higher (C)/ than the eventual target. WPI (D)/ should cut interest rates in response to this, (E)

01. ADBCE 02. ABCDE
03. ACBED 04. AECDB
05. No change required

Solution for Question 1 Ans Key: 4

Q-2

Explanation-: The correct rearrangement is - The finance ministry had argued over the next year that the central bank should cut interest rates in response to
this, though consumer price inflation was far higher than the eventual target. WPI eventually converged towards consumer price inflation.

Explanation-: The correct rearrangement is - The finance ministry had argued over the next year that the central bank should cut interest rates in response to
this, though consumer price inflation was far higher than the eventual target. WPI eventually converged towards consumer price inflation.

In the following question, a word is given followed by three sentences consisting of a blank. Choose the sentence/s in which the given word
can be correctly used.

PENITENT
I. As the army officer stood in front of the military judge, he had a look on his face.
I1. If you are driving in a blizzard, you may kick yourself for making such a journey.

III. The road near the mountains grew even steeper and more N

01. OnlyI 02. Onlyll
03. BothIand III 04. Both II and 111

05.  All of the above.
In the following question, a word is given followed by three sentences consisting of a blank. Choose the sentence/s in which the given word
can be correctly used.

PENITENT
I. As the army officer stood in front of the military judge, he had a look on his face.
11. If you are driving in a blizzard, you may kick yourself for making such a journey.

II1. The road near the mountains grew even steeper and more

01. Onlyl 02. Only Il
03. Both I and ITI 04. Both IT and I
05. All of the above.

Solution for Question 2 AnsKey: 1

eng

Explanation- : penitent (adj.) — regretful.

In I%! sentence, penitent is used correctly.

In IT and III, perilous (adj.) which means dangerous can be used.

Explanation- : penitent (adj.) — regretful.

In I8! sentence, penitent is used correctly.

In I and III, perilous (adj.) which means dangerous can be used.

Q-3

eng

In the following question, a word is given followed by three sentences consisting of a blank. Choose the sentence/s in which the given word
can be correctly used.



RECLUSE

I. My election choices depend on the fact that I am a of the Republican Party.
I1. The father became a bitter , shutting himself away from all his friends.
1. always know about trendy new restaurants, and have a perpetual stash of fun ideas for outings and adventures.

01. OnlyI 02. Only Il
03. BothIandIII 04. Both II and ITI

05.  All of the above.
In the following question, a word is given followed by three sentences consisting of a blank. Choose the sentence/s in which the given word
can be correctly used.

RECLUSE

1. My election choices depend on the fact that I am a of the Republican Party.

II. The father became a bitter , shutting himself away from all his friends.

1I1. always know about trendy new restaurants, and have a perpetual stash of fun ideas for outings and adventures.
01. Only I 02. Only II

03. Both I and 111 04. Both Il and III

05. All of the above.

Solution for Question 3 Ans Key: 2

Explanation-: recluse (n) - a person who lives a solitary life and tends to avoid other people.

In IInd sentence, recluse is correctly used.

For other sentences: In Ist sentence - denizen (n) — inhabitant

In III sentence- social butterfly (adj.) - someone who is social or friendly with everyone, flitting from person to person

Explanation-: recluse (n) - a person who lives a solitary life and tends to avoid other people.

In IInd sentence, recluse is correctly used.

For other sentences: In Ist sentence - denizen (n) — inhabitant

In III sentence- social butterfly (adj.) - someone who is social or friendly with everyone, flitting from person to person

In the following question, two words have been given in bold which may or may not be correct contextually. If the words are incorrect, choose
the option which replaces both the words respectively. If the words are correct, mark ‘no change required’ as your answer.

While stories of innovative and revolutionary scenarios speak of an individual’s organic and mythical origins, the reality is that turning creative ideas into an
actual reality is hard — and it requires great connectivity.

A. Setback, innovation

B. Quantum leap, mannerism.
C. Breakthrough, leadership
D. Drama, division

01. Only A 02. Both AandC
03. Both Band D 04. OnlyC

05. No change required
In the following question, two words have been given in bold which may or may not be correct contextually. If the words are incorrect, choose
the option which replaces both the words respectively. If the words are correct, mark ‘no change required’ as your answer.

While stories of innovative and revolutionary scenarios speak of an individual’s organic and mythical origins, the reality is that turning creative ideas into an
actual reality is hard — and it requires great connectivity.

A. Setback, innovation

B. Quantum leap, mannerism.
C. Breakthrough, leadership
D. Drama, division

01. Only A 02. Both A and C

03. BothBand D 04. Only C

05. No change required
Solution for Question 4 Ans Key: 4
eng Explanation-: breakthrough (n) - a sudden, dramatic, and important discovery or development.

For other options-: quantum leap (n) - a sudden large increase or advance.




hi Explanation-: breakthrough (n) - a sudden, dramatic, and important discovery or development.
For other options-: quantum leap (n) - a sudden large increase or advance.

Q-5 In the following question, two words have been given in bold which may or may not be correct contextually. If the words are incorrect, choose
eng the option which replaces both the words respectively. If the words are correct, mark ‘no change required’ as your answer.

Tagore’s encompassing definition of patriotism is a solution to distortions of the term which was primarily the work of Hindu nationalists of the time. His
definition is embedded with values of cooperation and coexistence that transcends boundaries and is meant for humanity at large.

A. Emancipating, encroaches
B. Syncretizing, encapsulates
C. Invigorating, enmeshes

D. Dismantling, encircles

01. Only A 02. Both AandC

03. Both Band D 04. OnlyC

0S. No change required
Q-5 In the following question, two words have been given in bold which may or may not be correct contextually. If the words are incorrect, choose
hi the option which replaces both the words respectively. If the words are correct, mark ‘no change required’ as your answer.

Tagore’s encompassing definition of patriotism is a solution to distortions of the term which was primarily the work of Hindu nationalists of the time. His
definition is embedded with values of cooperation and coexistence that transcends boundaries and is meant for humanity at large.

A. Emancipating, encroaches
B. Syncretizing, encapsulates
C. Invigorating, enmeshes

D. Dismantling, encircles

01. Only A 02. Both A and C
03. Both Band D 04. Only C
05. No change required
Solution for Question 5 Ans Key: 5

Encompass (v) — surround, enclose

Transcend (v) - be or go beyond the range or limits of

For other options-:

Emancipate (v) - set free, especially from legal, social, or political restrictions.

Encroach (v) -intrude on (a person's territory, rights, personal life, etc.).

Syncretize (v) -attempt to amalgamate or reconcile (differing things, especially religious beliefs, cultural elements, or schools of thought).
Encapsulate (V) - summarize

Invigorate (v.) -make one feel strong, healthy, and full of energy.

Enmesh (v) - entangle

Dismantle (v) -to get rid of a system or organization, usually over a period of time.

Encompass (v) — surround, enclose

Transcend (V) - be or go beyond the range or limits of

For other options-:

Emancipate (v) - set free, especially from legal, social, or political restrictions.

Encroach (v) -intrude on (a person's territory, rights, personal life, etc.).

Syncretize (v) -attempt to amalgamate or reconcile (differing things, especially religious beliefs, cultural elements, or schools of thought).
Encapsulate (v) - summarize

Invigorate (v.) -make one feel strong, healthy, and full of energy.

Enmesh (v) - entangle

Dismantle (v) -to get rid of a system or organization, usually over a period of time.

Q-6 Which of the Phrases (1), (2), (3) and (4) given below the sentence should replace the phrase given in bold in the sentence to make it
eng grammatically correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

There is also a need to further develop the recycling technologies and processing methods, as most of the plastic in India is downcycled, which
means PET (polyethylene terephthalate) gets recycled into a low-quality product.

01. aneed in further develop the recycled 02. aneed to farther develop the cycling technologies and processing methods,
technologies and processed methods,

03. aneed for further developing the recycle ~ 04. a need from further developing the recycle technologies and process methods,
technologies and process methods,

05. No correction required
Q-6 Which of the Phrases (1), (2), (3) and (4) given below the sentence should replace the phrase given in bold in the sentence to make it



grammatically correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

There is also a need to further develop the recycling technologies and processing methods, as most of the plastic in India is downcycled, which
means PET (polyethylene terephthalate) gets recycled into a low-quality product.

01. aneed in further develop the recycled 02. aneed to farther develop the cycling technologies and processing methods,
technologies and processed methods,

03. aneed for further developing the recycle ~ 04. aneed from further developing the recycle technologies and process methods,
technologies and process methods,

05. No correction required

Solution for Question 6 Ans Key: 5

eng

Q-7

eng

Q-7

There is also a need to further (to express ‘to be done in the future’) develop (‘to’ takes ‘V1°) the recycling (recycle is correct which means to
convert (waste) into reusable material.) technologies and processing (participle to is correct here to express an adjective) methods, as most of the
plastic in India is downcycled, which means PET (polyethylene terephthalate) gets recycled into a low-quality product.

There is also a need to further (to express ‘to be done in the future’) develop (‘to’ takes V1°) the recycling (recycle is correct which means to
convert (waste) into reusable material.) technologies and processing (participle to is correct here to express an adjective) methods, as most of the
plastic in India is downcycled, which means PET (polyethylene terephthalate) gets recycled into a low-quality product.

Which of the Phrases (1), (2), (3) and (4) given below the sentence should replace the phrase given in bold in the sentence to make it
grammatically correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

The significant ease of internet access, through a hosting of connected devices has made it increasingly viable for users to avail content from all over
the world.

01. from a host of connected devices for that ~ 02. for a host of connected devices has made it increasingly viable
has made it increasingly viable
03. through a hoist of connecting devices has ~ 04.  through a host of connected devices has made it increasingly viable
made it increasingly viable
05. No correction required
Which of the Phrases (1), (2), (3) and (4) given below the sentence should replace the phrase given in bold in the sentence to make it
grammatically correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

The significant ease of internet access, through a hosting of connected devices has made it increasingly viable for users to avail content from all over
the world.

01. from a host of connected devices for that ~ 02. for a host of connected devices has made it increasingly viable
has made it increasingly viable

03.  through a hoist of connecting devices has ~ 04.  through a host of connected devices has made it increasingly viable
made it increasingly viable

0S. No correction required

Solution for Question 7 Ans Key: 4

cuyg

hi

Q-8

eng

The significant ease of internet access through (to express by means of) a host of connected Ythe devices which are already connected) devices has made it
increasingly viable for users to avail content from all over the world.

The significant ease of internet access through (to express by means of) a host of connected 9the devices which are already connected) devices has made it
increasingly viable for users to avail content from all over the world.

Which of the Phrases (1), (2), (3) and (4) given below the sentence should replace the phrase given in bold in the sentence to make it
grammatically correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

Organizations are spending big money on digital transformation, but they could reap an immediate, and far more cost-effective transformative benefit
just by changing the way they work, instead of what they use to work.

01. and far more cost-effective transforming ~ 02. that is far more cost-effective transformational benefiting just by change the way they work,
benefit just by changing the way they work,

03. and far more costing-effective 04. and far more cost-effective transformational benefit just by changing the way they work,
transformational benefit just by changed the
way they work,

05. No correction required
Which of the Phrases (1), (2), (3) and (4) given below the sentence should replace the phrase given in bold in the sentence to make it
grammatically correct. If the sentence is correct as it is given and no correction is required, mark (5) as the answer.

Organizations are spending big money on digital transformation, but they could reap an immediate, and far more cost-effective transformative benefit



just by changing the way they work, instead of what they use to work.

01. and far more cost-effective transforming ~ 02. that is far more cost-effective transformational benefiting just by change the way they work,
benefit just by changing the way they work,

03. and far more costing-effective 04. and far more cost-effective transformational benefit just by changing the way they work,
transformational benefit just by changed the
way they work,

05. No correction required

Solution for Question 8 Ans Key: 4

and far more cost-effective transformational (related to or involving transformation or transformations) benefit just by changing the way they work,

and far more cost-effective transformational (related to or involving transformation or transformations) benefit just by changing the way they work,

Q-10

In the following question, three sentences are given which are divided into two parts i.e., (A) and (B), either of them is free from errors. Find
out which part of which sentence contains an error. If there is no error in all the three sentences, mark option (5) i.e. ‘No Error’ as your
answer.

1. The relationship between cinema and propaganda (A)/ has not always been easily discernible.(B)
II. A series of films have been made with the objective (A)/of "influencing" public opinion during the election season.(B)
III. This election has been unsettling at various levels (A)/ with high-pitched jingoism and open threats of nuclear war.(B)

01. I-A, II-B, III-A 02. I-B, II-A, III-B

03. I-A, II-B, I1I-B 04. I-A, II-A, TII-A

05. No error

In the following question, three sentences are given which are divided into two parts i.e., (A) and (B), either of them is free from errors. Find

out which part of which sentence contains an error. If there is no error in all the three sentences, mark option (5) i.e. ‘No Error’ as your
answer.

I. The relationship between cinema and propaganda (A)/ has not always been easily discernible.(B)
II. A series of films have been made with the objective (A)/of "influencing" public opinion during the election season.(B)
III. This election has been unsettling at various levels (A)/ with high-pitched jingoism and open threats of nuclear war.(B)

01. I-A,II-B, IIl-A 02. I-B,II-A, III-B
03. I-A, II-B, I1I-B 04. 1-A, II-A, ITI-A
05. No error
Ans Key: 5

In the following question, three sentences are given which are divided into two parts i.e., (A) and (B), either of them is free from errors. Find
out which part of which sentence contains an error. If there is no error in all the three sentences, mark option (5) i.e. ‘No Error’ as your
answer

L. If top managers aren’t on the same desk, (A)/it makes it difficult for their direct reports to agree on what to prioritize and how to measure progress.(B)
II. The company is using the relationships to accelerate the prototyping and industrialization (A)/ of emerging technologies relating to health and wellness,
cybersecurity, and zero emissions.(B)

III. The company spent heavily on robotics, machine learning, (A)/ and 3-D printing of a new manufacturing plant. (B)

01. I-A, 1I-B, III-A 02. 1-B, II-A, III-B
03. 1-A, 1I-B, II-B 04. 1-A, 1I-A, TII-A

0S. No error

In the following question, three sentences are given which are divided into two parts i.e., (A) and (B), either of them is free from errors. Find
out which part of which sentence contains an error. If there is no error in all the three sentences, mark option (5) i.e. ‘No Error’ as your
answer

1. If top managers aren’t on the same desk, (A)/it makes it difficult for their direct reports to agree on what to prioritize and how to measure progress.(B)
I1. The company is using the relationships to accelerate the prototyping and industrialization (A)/ of emerging technologies relating to health and wellness,
cybersecurity, and zero emissions.(B)

II1. The company spent heavily on robotics, machine learning, (A)/ and 3-D printing of a new manufacturing plant. (B)

01. I-A, II-B, III-A 02. 1-B, II-A, III-B
03. I-A, 1I-B, II-B 04. 1-A, 1I-A, TII-A

05. No error

Solution for Question 10 Ans Key: 3



eng Explanation-: In I sentence, on the same page is a phrase which means in agreement, so desk is not appropriate there.

In IT sentence, ‘relating’ should replace ‘related’

In IIT sentence, ‘of” should replace ‘at’ because in the sentence, a place (new manufacturing plant) is mentioned.

hi Explanation-: In I sentence, on the same page is a phrase which means in agreement, so desk is not appropriate there.

In IT sentence, ‘relating’ should replace ‘related’

In IIT sentence, ‘of” should replace ‘at’ because in the sentence, a place (new manufacturing plant) is mentioned.

Q-11 In the following question, three sentences are given which are divided into two parts i.e., (A) and (B), either of them is free from errors. Find
eng out which part of which sentence contains an error. If there is no error in all the three sentences, mark option (5) i.e. ‘No Error’ as your
answer.

1. Insufficient faculty, poor research, and low student (A) /entake hamper the goal of a world class education. (B)
II. IITs must respond to the dominance discourse (A)/ on development and articulate paradigmatic ideas. (B)
III. Technologies need to be rooted in the social, economic (A)/ and political environment even they are to succeed. (B)

01. [-A,II-B, [Il-A
03. I-A, II-B, III-B

02. 1B, II-A, III-B
04. LA, II-A, [II-A

0S. No error
Q-11 In the following question, three sentences are given which are divided into two parts i.e., (A) and (B), either of them is free from errors. Find
hi out which part of which sentence contains an error. If there is no error in all the three sentences, mark option (5) i.e. ‘No Error’ as your
answer.

I. Insufficient faculty, poor research, and low student (A) /entake hamper the goal of a world class education. (B)
IL. IITs must respond to the dominance discourse (A)/ on development and articulate paradigmatic ideas. (B)
III. Technologies need to be rooted in the social, economic (A)/ and political environment even they are to succeed. (B)

01. I-A, II-B, III-A

03. I-A, II-B, I1I-B

05. No error
Solution for Question 11

Explanation-: In I sentence, ‘entake’ should replace ‘intake’ which means the people taken into an organization at a particular time.
In II sentence, ‘dominant’ should replace ‘dominance’, an adjective is required here.

02. I-B, II-A, III-B
04. I-A, II-A, TII-A

In [T sentence, ‘even’ is not appropriate here, ‘if” should be used.

Explanation-: In I sentence, ‘entake’ should replace ‘intake’ which means the people taken into an organization at a particular time.
In II sentence, ‘dominant’ should replace ‘dominance’, an adjective is required here.

In III sentence, ‘even’ is not appropriate here, ‘if” should be used.

Q-12 Read the passage carefully and suggest the most suitable sequence of words to be filled in the given passage respectively

A quick scroll through the seemingly
heard for 15 seconds.

A. Spectacular
B. Endless

C. Stable

D. Evocative
E. Earworm

01. A-C
03. B-C
05. B-E

Q-12 Read the passage carefully and suggest the most suitable sequence of words to be filled in the given passage respectively

A quick scroll through the seemingly
heard for 15 seconds.

A. Spectacular
B. Endless

C. Stable

D. Evocative
E. Earworm

01. A-C

stream of suggestions, and you are, for days, likely to retain the

02. C-E
04. C-D

stream of suggestions, and you are, for days, likely to retain the

02. C-E

Ans Key: 2

of a song that you’ve just

of a song that you’ve just



03. B-C 04. C-D

05. B-E

Solution for Question 12

eng

Q-13

eng

Explanation-: Earworm (n) - catchy song or tune that runs continually through a person's mind.

For other options-:
Spectacular (adj.) - beautiful in a dramatic and eye-catching way.
Evocative (adj.) - reminiscent

Explanation-: Earworm (n) - catchy song or tune that runs continually through a person's mind.

For other options-:
Spectacular (adj.) - beautiful in a dramatic and eye-catching way.
Evocative (adj.) - reminiscent

Ans Key: 5

Read the passage carefully and suggest the most suitable sequence of words to be filled in the given passage respectively.

Industrial activity in the new financial year appears to have started on a
fiscal, the government’s latest quick estimates show.

A. Static

B. Healthier

C. Puzzled

D. Substantiated
E. Loomed

01. A-C 02. C-E
03. B-C 04. C-D
05. B-D

note than the trend

in the last quarter of the previous

Read the passage carefully and suggest the most suitable sequence of words to be filled in the given passage respectively.

Industrial activity in the new financial year appears to have started on a
fiscal, the government’s latest quick estimates show.

A. Static

B. Healthier

C. Puzzled

D. Substantiated
E. Loomed

01. A-C 02. C-E
03. B-C 04. C-D
05. B-D

Solution for Question 13

Q-14

eng

Q-14

Explanation- : substantiate (v) - provide evidence to support or prove the truth of.
For other options-: loomed (v) — emerged
Puzzle (v) — to get/make confused/confuse.

Explanation- : substantiate (v) - provide evidence to support or prove the truth of.
For other options-: loomed (v) — emerged
Puzzle (v) — to get/make confused/confuse.

note than the trend

in the last quarter of the previous

Ans Key: 5

Read the passage carefully and suggest the most suitable sequence of words to be filled in the given passage respectively.

Itis to see that where the group has failed to find

declaration has mentioned only the other countries in a paragraph praising the project.

A. Significant
B. Appraised
C. Contention
D. Conundrum
E. Consensus

01. A-C 02. C-D
03. B-C 04. A-E
05. B-E

, such as on India’s opposition to China’s Belt and Road Initiative, the

Read the passage carefully and suggest the most suitable sequence of words to be filled in the given passage respectively.



Itis to see that where the group has failed to find , such as on India’s opposition to China’s Belt and Road Initiative, the
declaration has mentioned only the other countries in a paragraph praising the project.

A. Significant
B. Appraised
C. Contention
D. Conundrum
E. Consensus

01. A-C 02. C-D
03. B-C 04. A-E
05. B-E

Solution for Question 14 Ans Key: 4

eng

Explanation-: consensus (n) — a general agreement
For other options- Conundrum (n) - a confusing and difficult problem or question.
Contention (n) - heated disagreement.

Q-15

Q-15

Explanation-: consensus (n) — a general agreement
For other options- Conundrum (n) - a confusing and difficult problem or question.
Contention (n) - heated disagreement.

In the following question, a word is given followed by three sentences consisting of a blank. Choose the sentence/s in which the given word
can be correctly used.

TAD

I. After the college fest, I feel a guilty to be depriving him of the opportunity.

I1. The rapper has of infectious energy level and his energy level is impossible to match.
IIL. I was a taken back by her answer when I talked to the customer care executive.

01. OnlyI 02. Onlyll

03. Both I and I11 04. Both I and ITI

05.  All of the above.
In the following question, a word is given followed by three sentences consisting of a blank. Choose the sentence/s in which the given word
can be correctly used.

TAD

L. After the college fest, I feel a guilty to be depriving him of the opportunity.

II. The rapper has of infectious energy level and his energy level is impossible to match.

III. I was a taken back by her answer when I talked to the customer care executive.

01. Onlyl 02. Onlyll

03. Both I and 111 04. Both Il and 111

05. All of the above.
Solution for Question 15 Ans Key: 3
eng Explanation-: tad (adverb) — to a small extent.

In I and III sentence, tad is correctly used.
In IT sentence, oodles (n) -a very great number or amount of something.

Explanation-: tad (adverb) — to a small extent.
In I and IIT sentence, tad is correctly used.
In IT sentence, oodles (n) -a very great number or amount of something.

Q-16

eng

Read the passage carefully and suggest the most suitable sequence of words to be filled in the given passage respectively.

It’s only in the last decade, with the rise and rise of social media bridging the gap between the personal and the professional, that politicians have realised
the of letting their electorate get a of their emotional lives.

A. Efficacy
B. Instance
C. Glimpse
D. Quagmire
E. Stern



01. A-C 02. C-E
03. B-C 04. C-D

05. A-E
Read the passage carefully and suggest the most suitable sequence of words to be filled in the given passage respectively.

It’s only in the last decade, with the rise and rise of social media bridging the gap between the personal and the professional, that politicians have realised
the of letting their electorate get a of their emotional lives.

A. Efficacy
B. Instance
C. Glimpse

D. Quagmire
E. Stern

01. A-C 02. C-E
03. B-C 04. C-D
05. A-E

Solution for Question 16 Ans Key: 1

eng

Q-17

Q-17

Explanation- : efficacy (n) — effectiveness

Glimpse (n) - a momentary or partial view.

For other options-: quagmire (n) - an awkward, complex, or hazardous situation.
Stern (adj.) — strict

Explanation- : efficacy (n) — effectiveness

Glimpse (n) - a momentary or partial view.

For other options-: quagmire (n) - an awkward, complex, or hazardous situation.
Stern (adj.) — strict

In the question below, a sentence has been written in three different ways. Choose the option(s) which substitute(s) the sentence both
grammatically and contextually.

The capital infusion doesn’t give the Japanese conglomerate a majority of voting rights and WeWork will be treated as an associate, not a subsidiary.

A. WeWork will be treated as an associate, not a subsidiary because the capital infusion doesn’t give the Japanese conglomerate a majority of voting rights.
B. A majority of voting rights is not given to the Japanese conglomerate after the capital infusion and WeWork will not be treated as a subsidiary but as an
associate.

C. WeWork will be treated as a subsidiary because the Japanese Conglomerate has infused capital and it will get majority of voting rights.

01. Only A 02. OnlyB
03. Both A and C 04. BothBand C

05. AllA,BandC
In the question below, a sentence has been written in three different ways. Choose the option(s) which substitute(s) the sentence both
grammatically and contextually.

The capital infusion doesn’t give the Japanese conglomerate a majority of voting rights and WeWork will be treated as an associate, not a subsidiary.

A. WeWork will be treated as an associate, not a subsidiary because the capital infusion doesn’t give the Japanese conglomerate a majority of voting rights.
B. A majority of voting rights is not given to the Japanese conglomerate after the capital infusion and WeWork will not be treated as a subsidiary but as an
associate.

C. WeWork will be treated as a subsidiary because the Japanese Conglomerate has infused capital and it will get majority of voting rights.

01. OnlyA 02. OnlyB

03. Both A and C 04. BothBandC

05. AllA,BandC
Solution for Question 17 Ans Key: 2
eng Explanation-: Only sentence B conveys the exact message as the original sentence does.

hi

Explanation-: Only sentence B conveys the exact message as the original sentence does.

Q-18

eng

In the question below, a sentence has been written in three different ways. Choose the option(s) which substitute(s) the sentence both
grammatically and contextually.

There will be a lot of SoftBank investors that will think it’s crazy to invest this much money into one company.



A. This much money will not be invested into one company according to a lot of SoftBank investors.
B. According to a lot of SoftBank investors, to invest this much money into one company is crazy.
C. The investment of this much money into one company will be considered crazy by a lot of SoftBank investors.

01. OnlyA 02. OnlyB
03. Both Aand C 04. BothBand C

05. AllA,BandC
In the question below, a sentence has been written in three different ways. Choose the option(s) which substitute(s) the sentence both
grammatically and contextually.

There will be a lot of SoftBank investors that will think it’s crazy to invest this much money into one company.

A. This much money will not be invested into one company according to a lot of SoftBank investors.
B. According to a lot of SoftBank investors, to invest this much money into one company is crazy.
C. The investment of this much money into one company will be considered crazy by a lot of SoftBank investors.

01. OnlyA 02. OnlyB
03. Both A and C 04. BothBand C
05. AllA,BandC

Solution for Question 18 Ans Key: 4

Q-19

Q-19

Explanation-: Sentences B and C convey the same meaning as the given sentence.

Explanation-: Sentences B and C convey the same meaning as the given sentence.

If the (A) part of the sentence is fixed at its place, what will be the correct rearrangement of the sentence given below and in case you feel
the given sentence is in its correct sequence then mark option (5) i.e., no change required as your answer.

According to the World Bank, lack of access to energy (A) / indicators such as health, education, food security (B)/ and has an impact on a wide range of
development (C), is a fundamental barrier to progress in many parts of Africa and South Asia (D)/ gender equality, livelihoods and poverty eradication.(E)

01. ADCBE 02. AEBCD
03. ABECD 04. ADBEC

05. No change required
If the (A) part of the sentence is fixed at its place, what will be the correct rearrangement of the sentence given below and in case you feel
the given sentence is in its correct sequence then mark option (5) i.e., no change required as your answer.

According to the World Bank, lack of access to energy (A) / indicators such as health, education, food security (B)/ and has an impact on a wide range of
development (C), is a fundamental barrier to progress in many parts of Africa and South Asia (D)/ gender equality, livelihoods and poverty eradication.(E)

01. ADCBE 02. AEBCD

03. ABECD 04. ADBEC

05. No change required
Solution for Question 19 Ans Key: 1
eng Explanation-: The correct rearrangement is - According to the World Bank, lack of access to energy is a fundamental barrier to progress in many parts of

Africa and South Asia and has an impact on a wide range of development indicators such as health, education, food security, gender equality, livelihoods
and poverty eradication.

Explanation-: The correct rearrangement is - According to the World Bank, lack of access to energy is a fundamental barrier to progress in many parts of
Africa and South Asia and has an impact on a wide range of development indicators such as health, education, food security, gender equality, livelihoods
and poverty eradication.

Q-20

eng

If the (A) part of the sentence is fixed at its place, what will be the correct rearrangement of the sentence given below and in case you feel
the given sentence is in its correct sequence then mark option (5) i.e., no change required as your answer.

There is misplaced apprehension that though (A) /people may not be taking refills (B)/ the connections have been provided, (C)/ requires behavioral change
(D)/ and using LPG for cooking instead of solid fuel. (E)

01. ABCDE 02. AEBCD
03. ACBED 04. ACBDE

05. No change required
If the (A) part of the sentence is fixed at its place, what will be the correct rearrangement of the sentence given below and in case you feel
the given sentence is in its correct sequence then mark option (5) i.e., no change required as your answer.



There is misplaced apprehension that though (A) /people may not be taking refills (B)/ the connections have been provided, (C)/ requires behavioral change
(D)/ and using LPG for cooking instead of solid fuel. (E)

01. ABCDE 02. AEBCD
03. ACBED 04. ACBDE
05. No change required
Solution for Question 20 Ans Key: 3
eng Explanation-: The correct rearrangement is - There is misplaced apprehension that though these connections have been provided, people may not be taking
refills and using LPG for cooking instead of solid fuel requires behavioral change.
hi Explanation-: The correct rearrangement is - There is misplaced apprehension that though these connections have been provided, people may not be taking

refills and using LPG for cooking instead of solid fuel requires behavioral change.

Passage for Question 21, 22, 23, 24, 25 (ST-261CRPBCLPRE(26-30E)2019)
eng Passage

In the following passage, there are blanks each of which has been numbered. These numbers are given below the passage and against each, five
words have been suggested, one of which fits the blanks appropriately. Find out the appropriate word in each case.

According to the National Crime Records Bureau of India, every five minutes a crime against a woman is (A) in India, which includes dowry deaths, honor killing,
sexual offences, insult to modesty and forced trafficking or prostitution.(B) may not be the driving force behind all of such criminal offences; but is somehow related
to a majority of them. An (C) family is more likely to resort to violence if their demand for dowry is not met, and an uneducated woman is also most likely to
concede to such illegal demands.

While it can be said that a well-educated person can also resort to (D) against women, but he is more unlikely to do so as compared to an illiterate person.
Moreover, an educated woman knows her rights and can very well defend herself as well as her family against any threats as compared to an illiterate woman.
Therefore, it is established beyond doubt that India needs to use education as a (E) to fight back crimes against women, if it wants to achieve development in true
sense.

hi Passage

In the following passage, there are blanks each of which has been numbered. These numbers are given below the passage and against each, five
words have been suggested, one of which fits the blanks appropriately. Find out the appropriate word in each case.

According to the National Crime Records Bureau of India, every five minutes a crime against a woman is (A) in India, which includes dowry deaths, honor killing,
sexual offences, insult to modesty and forced trafficking or prostitution.(B) may not be the driving force behind all of such criminal offences; but is somehow related
to a majority of them. An (C) family is more likely to resort to violence if their demand for dowry is not met, and an uneducated woman is also most likely to
concede to such illegal demands.

While it can be said that a well-educated person can also resort to (D) against women, but he is more unlikely to do so as compared to an illiterate person.
Moreover, an educated woman knows her rights and can very well defend herself as well as her family against any threats as compared to an illiterate woman.
Therefore, it is established beyond doubt that India needs to use education as a (E) to fight back crimes against women, if it wants to achieve development in true
sense.

Q-21  Choose the correct option for (A)

cig

01. confined 02. committed
03. performed 04. applied
05. released

Q-21  Choose the correct option for (A)

hi
01. confined 02. committed
03. performed 04. applied
05. released
Solution for Question 21 Ans Key: 2
eng For other options:
Confined (adj.) — (of a space) restricted in area or volume
hi For other options:

Confined (adj.) — (of a space) restricted in area or volume

Q-22  Choose the correct option for (B)
eng



01. illiteracy 02. senseless
03. foolishness 04. training

05. knowledge
Choose the correct option for (B)

01. illiteracy 02. senseless
03. foolishness 04. training
05. knowledge

Solution for Question 22

Ans Key: 1

eng

illiteracy(n)- the inability to read or write.
For other options:
Foolish (adj.) — lacking good sense or judgement.

illiteracy(n)- the inability to read or write.
For other options:
Foolish (adj.) — lacking good sense or judgement.

Q-23

eng

Q-23

Choose the correct option for (C)

01. nuclear 02. joint
03. educated 04. Jearned

05. uneducated
Choose the correct option for (C)

01. nuclear 02. joint
03. educated 04. learned

05. uneducated

Solution for Question 23

Q-24

cn

For other options:

Nuclear family (n)- a couple and their dependent children, regarded as a basic social unit.

For other options:

Nuclear family (n)—a couple and their dependent children, regarded as a basic social unit.

Choose the correct option for (D)

01. kindness
03. weakness
0S. powerful

Q-24  Choose the correct option for (D)

01. kindness

03. weakness

05. powerful
Solution for Question 24

02.
04.

02.
04.

violence

gentle

violence

gentle

Ans Key: 5

Ans Key: 2

eng

Violence (n) — behaviour involving physical force intended to hurt, damage, or kill someone
For other options:
Gentle (adj.) — having or showing a kind character.

Violence (n) — behaviour involving physical force intended to hurt, damage, or kill someone
For other options:
Gentle (adj.) — having or showing a kind character.

Q-25

eng

Q-25

Choose the correct option for (E)

01. wall 02. ingredient
03. bomb 04. weapon

05. means
Choose the correct option for (E)



01. wall 02. ingredient

03. bomb 04. weapon

05. means
Solution for Question 25 Ans Key: 4
eng Weapon (n) - a means of gaining an advantage.

For other options:
Ingredient (n) — a component part or element of something

hi Weapon (n) - a means of gaining an advantage.
For other options:
Ingredient (n) — a component part or element of something

Passage for Question 26, 27, 28, 29, 30 (ST-264CRPCLERKPRE(16-20E)2019)
eng Passage

Read the passage carefully and answer the questions given below-:

Among the students of democracy, there is a dominant trend that seeks to focus on an assessment, particularly of liberal democracy, keeping in view two main
aspects: the substantive and the procedural. The procedural aspect involves constitutional guarantees, which in turn offer every citizen an equal right to participate in
the political spaces that are formally open to the former without distinction. The core concern of procedural democracy is that a right-bearing citizen by virtue of
their right to participate in such spaces enjoys equal worth, particularly in the electoral arena. To put simply, the right to vote carries equal value inasmuch as it has
the power to decide the electoral fate of the candidate. Citizens enjoy these rights not because they belong to a particular region or religion, or speak a particular
language, but because they have been bestowed with this opportunity by the Constitution. Several constitutional provisions enable a citizen not only to vote, but also
to express their authentic voice in the formulation of public policies that have bearing not just on their particular interest as individuals, but on the general welfare of
the public.

Democracy as an open space, thus, in constitutional terms, enables an individual citizen to exist in the country without anyone’s permission, patronage, or sympathy.
Citizens, in an ideal situation, thus, do not have any need to exist in the country with anyone’s courtesy or favour. Put differently, citizenship is not based on any kind
of structural hierarchy.

However, the democratic practice in the Indian context evolved into something that has been exactly opposite to the spirit of liberal democracy. The focus of
political and electoral mobilisation, particularly by some political parties, has shifted from the need to promote an enlightened individual citizen to sliding down to
group mobilisation based on caste and religious community. Such parties with a communal, sectarian orientation have sought to dissolve individual citizens into the
“constraining” logic of specific communities. This has been done with one single purpose, that of creating a political majority based on religion. Put differently, the
particularisation of voters is a logically necessary condition to create and consolidate a party’s political identity as the party of the majority community; majority that
is ethnic rather than democratic.

The political project that involves the dissolution of individual or individuated citizens into the specific framework of either caste or religion, is carried out less with
passive indifference and more with intense feelings of hatred for a person who belongs to minority. Such reduction of a person to minoritisation is morally coercive.
It is offensive to the extent that it denies members from the community an opportunity for self-realisation as enlightened citizens.

Democracy as an open political space, therefore, is only the necessary or initial condition inasmuch as it allows a person to exercise their right to participate in such
spaces. But the constitutional provision for open spaces, though necessary, is not enough for the self-realisation of a person enjoying equal worth and civic attention.
It does not guarantee a citizen equal worth and equal civic attention. Every citizen who is a constitutive part of the open space called democracy has to be
embedded with ethical readiness to acknowledge the other’s moral need of equal worth.

hi Passage
Read the passage carefuily and answer the questions given below-:

Among the students of democracy, there is a dominant trend that seeks to focus on an assessment, particularly of liberal democracy, keeping in view two main
aspects: the substantive and the procedural. The procedural aspect involves constitutional guarantees, which in turn offer every citizen an equal right to participate in
the political spaces that are formally open to the former without distinction. The core concern of procedural democracy is that a right-bearing citizen by virtue of
their right to participate in such spaces enjoys equal worth, particularly in the electoral arena. To put simply, the right to vote carries equal value inasmuch as it has
the power to decide the electoral fate of the candidate. Citizens enjoy these rights not because they belong to a particular region or religion, or speak a particular
language, but because they have been bestowed with this opportunity by the Constitution. Several constitutional provisions enable a citizen not only to vote, but also
to express their authentic voice in the formulation of public policies that have bearing not just on their particular interest as individuals, but on the general welfare of
the public.

Democracy as an open space, thus, in constitutional terms, enables an individual citizen to exist in the country without anyone’s permission, patronage, or sympathy.
Citizens, in an ideal situation, thus, do not have any need to exist in the country with anyone’s courtesy or favour. Put differently, citizenship is not based on any kind
of structural hierarchy.

However, the democratic practice in the Indian context evolved into something that has been exactly opposite to the spirit of liberal democracy. The focus of
political and electoral mobilisation, particularly by some political parties, has shifted from the need to promote an enlightened individual citizen to sliding down to
group mobilisation based on caste and religious community. Such parties with a communal, sectarian orientation have sought to dissolve individual citizens into the
“constraining” logic of specific communities. This has been done with one single purpose, that of creating a political majority based on religion. Put differently, the
particularisation of voters is a logically necessary condition to create and consolidate a party’s political identity as the party of the majority community; majority that
is ethnic rather than democratic.

The political project that involves the dissolution of individual or individuated citizens into the specific framework of either caste or religion, is carried out less with
passive indifference and more with intense feelings of hatred for a person who belongs to minority. Such reduction of a person to minoritisation is morally coercive.




It is offensive to the extent that it denies members from the community an opportunity for self-realisation as enlightened citizens.

It does not guarantee a citizen equal worth and equal civic attention. Every citizen who is a constitutive part of the open space called democracy has to be
embedded with ethical readiness to acknowledge the other’s moral need of equal worth.

Democracy as an open political space, therefore, is only the necessary or initial condition inasmuch as it allows a person to exercise their right to participate in such
spaces. But the constitutional provision for open spaces, though necessary, is not enough for the self-realisation of a person enjoying equal worth and civic attention.

Q-26  What does the political project involve, according to the passage?

eng . . L. .
(A) It involves the dissolution into the specific framework.

(B) It involves the separation of individual citizens.
(C) The project involves certain framework based on caste and religion.

01. OnlyA 02. Both AandB
03. Both A andC 04. OnlyB

05. All of the above
Q-26  What does the political project involve, according to the passage?

(A) It involves the dissolution into the specific framework.
(B) It involves the separation of individual citizens.
(C) The project involves certain framework based on caste and religion.

01. Only A 02. Both A and B
03. Both A andC 04. OnlyB
05. All of the above

Solution for Question 26 Ans Key: 5
Solution:
The answer lies in the second last paragraph of the passage.
Solution:
The answer lies in the second last paragraph of the passage.
Q-27 Which of the following right/s is/are enabled by a citizen, according to the passage?
(A) Right to express their voice in the creation of policies.
(B) Right to vote for the hardship of the public.
(C) Right to participate in political spaces.
01. OnlyA 02. Both A and B
03. All Except A 04. Both A and C
05. Al of the above
Q-27 Which of the following right/s is/are enabled by a citizen, according to the passage?
(A) Right to express their voice in the creation of policies.
(B) Right to vote for the hardship of the public.
(C) Right to participate in political spaces.
01. Only A 02. Both A and B
03.  All Except A 04. Both A and C
05.  All of the above
Solution for Question 27 Ans Key: 4
eng Explanation-: The answer lies in the first paragraph of the passage.
hi Explanation-: The answer lies in the first paragraph of the passage.

Q-28  Which of the following would be the suitable title for the passage?

eng
01. Dominant Trend among the students of 02. Democracy and its practices.
democracy.
03. Inneed of Sensitive Democracy. 04. Democracy: An open political space

05. In Search of a Morally Sensitive
Democracy.



Q-28  Which of the following would be the suitable title for the passage?

01. Dominant Trend among the students of 02. Democracy and its practices.
democracy.

03. Inneed of Sensitive Democracy. 04. Democracy: An open political space

05. In Search of a Morally Sensitive
Democracy.

Solution for Question 28

Ans Key: 5

eng Explanation-: After reading the passage, the suitable title that can be derived is —In Search of a Morally Sensitive Democracy.

hi Explanation-: After reading the passage, the suitable title that can be derived is —In Search of a Morally Sensitive Democracy.

Q-29 What is/are the key concern/s of procedural democracy, according to the passage?
eng

01. Citizens do not enjoy rights specificallyin ~ 02. A citizen has the right to participate in religious spaces.
elections.

03. A citizen has equal worth in electoral arena. 04. Only (3)

05. Both (2) and (3)
Q-29 What is/are the key concern/s of procedural democracy, according to the passage?

01. Citizens do not enjoy rights specifically in ~ 02. A citizen has the right to participate in religious spaces.
elections.

03. A citizen has equal worth in electoral arena. 04. Only (3)
05. Both (2) and (3)
Solution for Question 29

Explanation-: The answer lies in the first paragraph of the passage.

Explanation-: The answer lies in the first paragraph of the passage.

Q-30  Which of the following is FALSE in context of the passage?

(A) Democracy enables an individual citizen to exist in the country without anyone’s permission.
(B) The particularisation of voters is not required to create a party’s political identity.

(C) The procedural aspect involves constitutional guarantees and offer every citizen an equal right.
(D) Citizens do not have any need to exist in the country with anyone’s favour.

01. Only A and D 02. OnlyB,CandD
03. All except A 04. OnlyB

05. OnlyC
Q-30 Which of the following is FALSE in context of the passage?

(A) Democracy enables an individual citizen to exist in the country without anyone’s permission.
(B) The particularisation of voters is not required to create a party’s political identity.

(C) The procedural aspect involves constitutional guarantees and offer every citizen an equal right.
(D) Citizens do not have any need to exist in the country with anyone’s favour.

01. Only A andD 02. Only B, Cand D
03. All except A 04. OnlyB
05. OnlyC

Solution for Question 30

Ans Key: 4

Ans Key: 4

eng Explanation-: The answer can be inferred after reading the whole passage.

hi Explanation-: The answer can be inferred after reading the whole passage.

Q-31 ‘What approximate value will come in place of question mark (?) in the following question?

eng
561 +35.05 % 19.99 + 5353 % 34.993="?

01. 3320 02. 3130
03. 2815 04. 3625



05. 2935
Q-31 f=forfad wor § wrar=e o % (?) % T 9% 0T 47 77 S

561 +35.05 % 19.99 + 5357 x 34.993=7

01. 3320 02. 3130
03. 2815 04. 3625
05. 2935
Solution for Question 31 Ans Key: 2

eng 560+35%20+80x35 =?
16x20+80%35=?
320+2800=?
7=3120=3130

hi 560+35%20+80x35 =?
16x20+80%35=?
320+2800=?
7=3120=3130

Q-32 ‘What approximate value will come in place of question mark (?) in the following question?
eng

5 x4011.33 + L of 3411.22+839.999 + 48.007= ?

a

01. 5200 02. 5400
03. 4500 04. 4900
05. 5500

Q-32 wfofed w1 § werar=s (e % (?) T 92 T F7 {19 A2

3 x4011.33 +3411.22 %7 ' +839.999 + 48.007=?

E -
o 4
8 {

01. 5200 02. 5400
03. 4500 04. 4900
05. 5500
Solution for Question 32 Ans Key: 4

eng

5% 4011334 7 x 341122 + 839999 _g

§ 48.007

5x501+2387+17.5=2
9=2505+2387+17.5
9=4909.5 ~ 4900
J x3411.00 4683399 _o
0 16007

g x 4011.33 +

T

5x501+2387+17.5=?
7=2505+2387+17.5
7=4909.5 = 4900

Q-33 ‘What approximate value will come in place of question mark (?) in the following question?

en
¢ 39.897% 0f 4330.1+58.779% of 5003 + 32.05% of 259.99 = ?

01. 4392 02. 4588
03. 4718 04. 4990
05. 5183

Q-33  fA=forfad wor § wrar=e B % (?) % T T2 0T F#47 /1 S
hi

4330.1 5T 39.897% + 5003 &T 58.779% + 259.99 =T 32.05%= ?

01. 4392 02. 4588
03. 4718 04. 4990
05. 5183



Solution for Question 33 Ans Key: 3

eng 40% of 4330 + 58% of 5000 + 32% of 260 = ?
1732 +2900 + 83.2="7?
?=47152~=4718

hi 4330 =T 40% + 5000 =T 58% + 260 =T 32% = ?
1732 +2900 + 83.2 =7
?7=47152=4718

Q-34  What approximate value will come in place of the question mark (?) in the following questions?

en
¢ 16.978 + 27.007 + 36.984 — 12.969 — 9.003 = ?
01. 72 02. 42
03. 60 04. 51
05. 65
Q-34 fA=fofad vt § wrar=s e (2) F T 9% @R F97 419 S0?
hi
16.978 + 27.007 + 36.984 — 12.969 — 9.003 = ?
01. 72 02. 42
03. 60 04. 51
05. 65
Solution for Question 34 Ans Key: 3

17+27+37-13-97?
?=59=60

17+27+37-13 -9~ ?
?7=59~60
Q-35 What approximate value should come in place of question mark (?) in the following questions?

555 7369=7+20.099

01. 8300 02. 8400
03. 8100 04. 7800
05. 8250

Q-35  famforfera wori & werfeeg (2) F T O% ST 74T /I 1A 2

5 1369=27+20.099

01. 8300 02. 8400

03. 8100 04. 7800

05. 8250
Solution for Question 35 Ans Key: 3
eng 36+369=2+20

405x20=?
7=8100

hi 36+369=7-20
405%20=?
7=8100

Q-36 What will come in place of question mark (?) in the following number series ?

eng
138 149 287 ? 723 1159

01. 436 02. 426
03. 416 04. 396
05. 266

Q-36 fAwfofed dear-daar § waar=s =g (?) F T 92 #7497 A



138 149 287 7 723 1159

01. 436 02. 426
03. 416 04. 396
05. 266

Solution for Question 36

Ans Key: 1

eng

149 + 138 = 287
287 + 149 =436
436 +287="723
723 +436=1159

149 + 138 = 287
287 + 149 =436
436 +287="723
723 +436=1159

Q-37

eng

Q-37

What should come in place of the question mark (?) in the following number series?

15 8 9 ? 32 825

01. 10 02. 12
03. 15 04. 18

05. None of these
erferfera seam et § T (?) & T 92 F4T A

15 8 9 ? 32 825

01. 10 02. 12
03. 15 04. 18
05. =% T FIS AT

Solution for Question 37

15x.5+.5=8
8x1+1=9
9x15+1.5=15
15x2+2=32
328%) 5 +9%5 = 82.5

15%x.5+.5=8
8x1+1=9
9x15+1.5=15
15%x2+2=32
32x25+25=825

Ans Key: 3

Q-38

eng

What value will come in the place of question mark (?) in the following number series?

19 10667 ? 23962 23337

01. 11645 02. 10138

03. 11161 04. 10545

05. 10629

& Y TEAT et § e e (?) % T 9 47 /9 A0 2

19 10667 ? 23962 23337

01. 11645 02. 10138
03. 11161 04. 10545
05. 10629

Solution for Question 38

Ans Key: 2

eng

19+ (22)3= 10667
10667 — (23)>= 10138
10138 + (24)> = 23962



23962 — (25)%= 23337

hi 19+ (22)°= 10667
10667 — (23)>= 10138
10138 + (24)> = 23962
23962 — (25)%= 23337

Q-39  What value will come in the place of question mark in the following questions below?

eng
13 18 31 60 114 ?

01. 213 02. 203
03. 188 04. 149
05. 134

Q-39 ¥ AT wwEAT T § werara® e (2) % T U F AT /I 0T 2

13 18 31 60 114 ?

01. 213 02. 203
03. 188 04. 149
05. 134

Solution for Question 39 Ans Key: 2

+5 +13 +29 +54 +89

+8 +16 +25 +35
u u
+8 +9 +10
+5 +13 +29 +54 +89
L A W L o
+3 +16 +25 +35
u v
+8 +9 +10

Q-40 What should come in place of question mark (?) in the following questions ?

12, 36, ?, 150, 252

01. 80 02. 70

03. 64 04. 65

05. 67
Q-40 i Sear J@ar § Wi (?) F T 9 FT AT 2

12, 36, ?, 150, 252

01. 80 02. 70

03. 64 04. 65

05. 67
Solution for Question 40 Ans Key: 1
eng 22 x3,32 x4, 4% x5 <eeeevv
hi 22 x3,32 x4, 42 x5 —oeve-

Q-41 In the following questions, two equations Quantity I and Quantity II are given. You have to solve both the equations and give answer.

eng

Quantity I: A merchant purchased some items on a 35% discount on labelled price from a whole sale shop and he sales his items on 22 % discount to

his customer then find his profit %?

Quantity II: In an organisation there are 40% employees are female out of total employees 12 % are female officer and rest are worker. Only 25% of
female officer are computer literate and rest 45 female officer are computer illiterate. 60 % males are officer and Out of total male officer 33.33 % are
computer illiterate then find that the number of computer illiterate male employees is how many % less or more than the no of computer illiterate female

employees?



01. Quantity I < Quantity IT 02.  Quantity I < Quantity II
03. Quantity I > Quantity IT 04.  Quantity I > Quantity II

0S. Quantity I = Quantity II or Relation cannot
be establish

et syt &, ST aHrHTon F ATATISHTATAT I FET AT E | srashy 4 e HTor H 1 gA FLATE AT T FTIACIAT G

ATATL: T ATIT A1 T Y T F A o7 T 35% FT T U T aeqal F1 GLiadT g i I 37 a€qal 1 22% e I 9= f3gr av

JHAFT ATH F1Y% 19 HAT2

ATAT II: UF T0A § o FHATRAT § 8 40% ATGATE & T [ FHATRAT HT 12% FHAT AIZAT SATAFTL 8 ST AT FTAHRT 81 FaA 25%
AT ATIFTLT FLT ATEAT 8 ST AT 45 ATZAT ATIFET Foge? [Fveaw g1 60% T2T ATAFET § T [ T2 ATAFHT 7 7 33.33% FgeX

IIE B, AT ST BTy FF Fogew sue T2 FHATET 6T TEaT FTY2T J9E AT FHATRAT 67 Tear £ o7 § e

% FH AT ATerF 32
01, HEATI<HTEATI 02. ATEATI<AT=AT I
03. HMEATI>HATETI 04. ATAT[>AT=AT 1L
05. |TAT I =HTAT [1 AT Ty T Al

T ST HEEAT B |

Solution for Question 41

Ans Key: 1

eng

Quantityl: let MP=100

CP for merchant after 35% discount =65
SP for merchant after 22 % discount = 78
% profit = 2> . 100 =20 %

Quantity2:

Computer illiterate female =9
Computer illiterate male = 12

% = i 100 =33.33 %
9

HTAT I: HHT MP=100
35% L % 18 ATIR & feTT CP =65
22% TE % & SATIRI & fTT SP = 78

% A= _— 100 =20 %
— = '
iy £
: |
C illiterate cliterate Cilliterate
o M 2
I FAUG Higel AR =9

YR IS oY AT = 12

9% = %-100 e O

CIEINIE

|-
F40%

Q-42

eng

Find the correct relationship between the given quantities:

Speed of a boat in still water is 12 km/hr.
Quantity I: time taken by boat to go 28 km in still water.
Quantity II: time taken by boat to go downstream 32 km in stream speed of 4 km/hr.



01. Quantity IT > Quantity I 02. Quantity I > Quantity I
03. Quantity I > Quantity IT 04. Quantity I < Quantity I

05. Quantity I = Quantity IT
Q-42 =T ATATSH § GET Hae A1 Al rord:

o STt § A1 ¥ =T 12 /e 81
AT [ o Ster 7 28 Foreft ST & 2 |
HTAT I1: 73T % 3Teet 32 Tt =reter & fora s |, ey 1 =met 4 fenefi/eeT €

01. |METII>ATATL 02. AETI>HET I
03. #=TI>|ET I 04. ATATI<HT=AT I
05. AT I=9m=T I

Solution for Question 42

eng Given, speed of boat in still water = 12 km/hr
Quantity I:
Time = distance/speed

Distance = 28 km

Time = 28/12 = 2.33 hours
Quantity II:

Distance = 32 km

Speed of boat =12 + 4 = 16 km/hr
Time =32/16 =2 hr

Thus, Quantity [ > Quantity II

ST ST J A1 shl =Imed = 12 ferei/erer
EIFINE

T = l/=e

alt = 28 forrlt

I = 12

T = 28/12 = 2.33 5T

HEAT I

&t = 32 forlt

M 6T = = 12 + 4 = 16 TRHI/ERT
g = 32/16 = 2 52T

HET [ > HEAT 1T

Q-43 Each question below contains a statement followed by Quantity I and Quantity I1.You have to find the correct relationship.

eng
A box contains 12 black balls, 15 green balls, 13 yellow balls and 16 purple balls.
Quantity I: If three balls are drawn at random then the probability that all the balls are either green or yellow.

Quantity II: If three balls are drawn at random then the probability that all are of different colours.

01. Quantity I < Quantity II 02.  Quantity I > Quantity II
03.  Quantity I > Quantity II 04.  Quantity I < Quantity II
05. Quantity I = Quantity II, or relation cannot

be established

Q-43 A RTATTAFTT T ATATI A TATAT I F ITTFAT FIATTAT | STHT AT qraeg TATHAT FIAT R

UF Fi H 12 AT A7, 15 T S, 13 et T2 3T 16 ST 974 2
ATAT I: T 14 A= 7 Arg e &7 & Aawar Srar 8 av @it 3§ g2 2t dier 31 i1 g i1 71 §91eeT 8
HTAT I1: TTE A AT HT ATG=aH € F HHa1 STar g qf T S-SR W 6 g ol F7 F91EHT gl

Ans Key: 3



01. gETI<HMETII 02. gr=TI> HETI
03. HETI>HMETII 04. HETI<HATATIT

05. 9T I =H|TAT 11, IT Feer AT T8t
[ERIEICETI

Solution for Question 43 Ans Key: 4

eng Quantity I:-
15 C_; +15 C_:

35

=0.0189

Quantity II:-
1:C1 XE q XL: Cl +12 Cl x].‘: C‘] xl:' C‘] 2] 2 Cl XlE Cl Xl:' Cl +15 Cl xli Cl xlf Cl
568 C:

=0.39

hi HqTAT L:-

15 C_; +1_= Cg.

. = 0.0189

A=A 11:-

1:C1 XE q XL: Cl +12 C]_ x].‘: C‘] xl:' C‘] +1: Cl XlE Cl Xl:' Cl +15 Cl xli Cl xlf Cl
S:C:

=0.39

Q-44 In the following questions, two quantities are given as Quantity I and Quantity II. Find the correct relationship.

Quantity I: The shopkeeper sold an article at 10 % discount on marked price and he gains 20 %. If the marked price of the article is Rs. 400, then the
cost price is?
Quantity II: The shopkeeper marks the price of the book Rs. 350 and his profit % is 15%. Find the cost price of the book, if he allows a discount of 8%?

01. Quantity I > Quantity II 02. Quantity I > Quantity II
03. Quantity II > Quantity I 04. Quantity II > Quantity I
05. Quantity I = Quantity II or Relation cannot
be established
Q-44 fAufafag v & ST ATITH FTATATISATATATIL F €TH FIATIATATS | TEY F¥ag AATq FI09 |

HTAT I: TF THARTT o o ToF T2 10% T 37 & TATT UF aeq 9 20% HT ATH ITH F6AT| 7T FEq &7 30 g7 400 707 €, T AR o7 52
ATAT II: TR Foharar &7 F8a 350 T2 Sifoha ot o SHET AT TA0T 15% 2| SR a8 8% i g il ATA(T 2T, q1 e 1 AR Tod
ST it

01. g=TI>HETI 02. gEATI>HAMEATI
03. g=ATH >HEATI 04. AT >HTATI

05. |TAT [ =AT=AT 1 A7 Heer =70 72t (T
ST EFAT S
Solution for Question 44 Ans Key: 1

eng Quantity I:
Selling price of the article = 400%(90/100) = Rs. 360
Cost price of the article => CPx(120/100) = 360
=> CP =360%(100/120)
=>CP=Rs. 300
Quantity II: Selling price of the book = 350%(92/100) = Rs. 322
Cost price of the book = 322x(100/115) = Rs. 280
Quantity [ > Quantity II
hi HqETL
FEG FT FaFT o7 = 400%(90/100) = Rs. 360
FEI FT HF oI => CP*(120/100) = 360
=> CP =360x(100/120)
=> CP =Rs. 300
HTAT I1: TEaa T f&5hT o = 350%(92/100) = Rs. 322
TEQF T ARG qoF = 322x(100/115) = Rs. 280
HqEAT [ >HE=T I

Q-45 Find the correct relationship between given quantities.

eng
Quantity I: Increase in area, if length of a rectangle is increased by 20% while breadth is decreased by 10%.

Quantity II: Increase in area, if side of a square is increased by 5%.



01. Quantity I > Quantity II 02. Quantity I > Quantity II

03. Quantity I > Quantity I 04.  Quantity I > Quantity I
05. Quantity I = Quantity II or Relation cannot
be established
Q-45  FrwLATATSH * At gt ady AT ff™A |
hi . .
HTAT I SR | g, TT AT 6T TS 20% T ST & ST 16 71275 10% FH Z1 ST 2l
ATAT I &% | I, T UF a0 F G § 5% FT IfE g2 2
01. A= I>AmE=T I 02. |TAT[>AT=AT 1L
03. H=ATII>AT=AT I 04. gETI>HATETI
05. |TAT I =H|TAT I1 AT Haer TT0d T2t 6T
ST HFATE
Solution for Question 45 Ans Key: 3
eng I: New Area of rectangle = 1.2L x 0.9B = 1.08 LB

8% increase in area

II: New Area of square = 1.05S x 1.05S = 1.1025 s?
10.25% increase in area
Im>1

I: ST T 14T &% = 1.2L x 0.9B = 1.08 LB

& H 8% T If

I1: 7T =T 3T &%t = 1.05S x 1.05S = 1.1025 s A 2
&6 T 10.25% Al

>1

Passage for Question 46, 47, 48, 49, 50 (ST-163 SBIPOPRE (16-20)2019)
eng Passage
Read the following passage carefully and answer the given questions.

Three car companies Mahindra’s, Honda and Suzuki introduced their new models in their showrooms and customers visited all three showrooms to
purchase new models of car. Some customers purchased new models of car and some did not purchase whereas some of the customers purchased more
than one brand. Total 600 customers visited the all three showrooms. 3/10 of the total customers purchased Mahindra’s new models, 1/4 of the total
customers purchased Honda’s new models and 9/20 of the total number of customers purchased Suzuki’s new models. Customers who purchased two
models are 90 and who purchased more than one models are 120. Customers of only Mahindra’s is 15 more than that of customers of only Honda
Number of customers who purchased new model of all three cars is 30. Number of customers of only Honda is 4/13 of the number of customers of only
Suzuki. Number of customers who purchased both Mahindra’s and Honda is 45. Number of customers who purchased both Honda and Suzuki is 15.

hi Passage
frrafafag Tera s eama @ o2 st fRuagwsi ¥ sacd)

T T FAAAT AERT ,ZIST 37T [T o TT STT=H § I T AT T9T 3T 3T TTEHT o H1T F U A @I & (o0 A1 TEAT T AT 6T 7
TTEHT 7 FTE F 90 AIe @I 37T FF T Tol @I, STl Fg ATgS! 7 UF F ATF Fi G| [ 600 Trgaht F Tt A1 et 7 127 B36am) et
TTEHT § & 3/10 T AET F A0 Afed G, A ATl 7 & 1/4 T ST 90 A @S 3T ATEHT 1 Rl GE&AT % 9/20 TTZhT 7 GSeh! o A0 Aied Giie|
S wTeat A IT A R B 990 § 3T g U 7 Afdrw Aiee @dis & ,120 g1 Fa ATST 6 UTgh Fact gieT & ATghi 4l qo1 | 15 fere 137
aofY areet T et gl 91 FT w7 747 Aisd GIaT 8, 30 T Fa BT F ATgh! il HCAT Fael o[l F ATgF1 T H&TT &1 4/13 T WEaT i< gieT
TET F A @IS T ATEHT T HEAT 45 1 FIST 3T T[T IAT 6 A @IS T ATZHT 6T HEAT 15 B

Q-46 What will be the ratio of number of customers of only Suzuki and number of customers who purchased only one brand?
eng

01. 9:11 02. 13:22
03. 2:11 04. 6:11

05. None of these
Q-46  FSY F UTEt Y AT AT FA UF AT G T JTHT ¥ HEAT HT ST F4T ST

01. 9:11 02. 13:22



03. 2:11
05. zeri & v Y

Solution for Question 46

04. 6:11

Ans Key: 2

eng Mahindra®s

Suzuki

Number of customers of Suzuki only = 195
Number of customers of who purchased only one brand = 330
Required ratio = 195:330 = 13:22

45
75

P

AR

hae leh! o TTeehi o1 & = 195

o TTeeRt 4 A U stie @iieT 8, IRl 9% = 330

TR AT = 195:330 = 13:22

Q-47 Number of customers who purchased only Suzuki brand is what % more than the number of customers who purchased Mahindra’s brand only?

eng

01. 137.5%
03. 160%
05. None of these

02.
04.

161.53%
60%

Q-47  FAA oAl A€ @I ATl TTEhl 1 HCAT Had HIgaT A1S Hl GG ATl ATl 0T SEAT & Fohae % e 82

hi

01. 137.5%

03. 160%

05. Tt i 478 7Y
Solution for Question 47

02.
04.

161.53%
60%

Ans Key: 3

eng Mahindra®s Honda

Suzruki

Number of customers of Mahindra’s only = 75
Number of customers of Suzuki only = 195
Required % = (195 - 75)x100/75 = 160




T
haet AfEST o UTeshi 1 §E&AT =75
e Goh! o UTEehT sh1 e = 195
JATTTHRY = (195 - 75) x 100/75 = 160%

Q-48 What is the ratio of difference between number of customers who purchased Mahindra’s and number of customers who purchased Honda to 1/11 of sum

eng of number of customers who purchased Mahindra’s and number of customers who purchased Honda?
01. 11:13 02. 1:1
03. 13:11 04. 12:13

05. None of these

Q-48  ATEaT TS &1 TG AT TTEHT T FEAT AT FIST FAT HT @I aTel ATGHl T ST % A9 T AT TAT AIZET ATE FT GLEA AT ATZHT T

hi AT ST EIST F1 T @G Aol AT T HEAT o TR 6 1/11 FT AT FT gRIT?
01. 11:13 02. 1:1
03. 13:11 04. 12:13
05. =% T FIS AT

Solution for Question 48

Mahindra®s Honda

Suzuki

Difference b/w number of customers of Mahindra’s and number of customers of Honda

=180 - 150 =30

Required ratio = 30: 1/11(330) = 30:30 = 1:1

HERT

TEsT o UTeeh! Sh1 GEAT 3T BIST % UTSh! shl EEAT T T

=180 - 150 = 30
ATIRIh T = 30: 1/11 (330) =30:30=1:1

Q-49 How many customers are there who did not purchase any of the new models?

eng

01. 0 02.
03. 150 04.

05. None of these
Q-49  fraw e & Rregiv FrE 71 Ateer T2 @eia?
hi

01. 0 02.
03. 150 04.
05,z & 7
Solution for Question 49
eng Mahindra’s Honda
/ ‘_/':" \

175
160

175
160

Ans Key: 2

Ans Key: 3



Suzuki

Total number of customers who purchased atleast one model = 75 + 60 + 195 =330
Number of customers who purchased more than one model = 120
Number of customers who did not purchase any of the new model = 600 - (330 + 120) = 150

wﬁwqmﬁ@%@ﬁémmﬁaﬁ@m: (75 + 60 + 195) =330
T O 3T Hied @iie T UTeshl shT §&AT = 120
I UTEeh! ohl G fSIra i 1S 3T Higd Tei @ler = 600 - (330 + 120) = 150

Q-50 Number of customers who purchased model of Suzuki brand is how much percent more than the number of customers who purchased model of Honda
eng brand?

01. 120% 02. 30%
03. 80% 04. 225%

05. None of these
Q-50 IS T F WIS FT G TT ATEHT il HEAT 2T FE F ASH @& T ATGHT 0T §edT & Fhae afaerd sifa 22

hi

01. 120% 02. 30%

03. 80% 04. 225%

05. = ¥ F1E Tof
Solution for Question 50 Ans Key: 3
eng Mahindra®s Honda

Suzuki
Number of customers who purchased Honda = 150
Number of customers who purchased Suzuki =270
Required % = (270 - 150)x100/150 = 80%




2ier @ T e o HE = 150
GhT Tlie T UTeshi ol HE&AT = 270
HTETRIHY = (270 - 150) x 100/150 = 80%

Passage for Question 51, 52, 53, 54, 55 (ST-121 MATHS 2019 DI-4)
eng Passage

Study the following information carefully and answer the questions given below:
The following line graph represents five different books sold by two shopkeepers in the year of 2017.

et ANSHUL =t Vipul
650

600
550
500

450

400
Maovel History Computer English Maths

The following bar graph represents cost prices of the books.

G600
550
500
450
400
350 ’
300
250
Maovel Hiostory Computer Engllsh Maths
hi Passage

FReferied sret 1 eam@s steqae 3 ofi¥ F= faw 0w & 392
9 T I § AT 2017 § &7 THRT G127 S T, Ti STeT- (e Teaehi 7 3aeor (T 14T g

~—si g
650

600
550
500

450

400
Ig=TH sfdee FEX IS Aot
R AT H FTARad qeht ol e foar T 2
600

550




350

300

o1 S oo (o S - 1| SR | i =

Q-51

eng

Anshul sold each of the History Books for Rs.450 and each of the Computer Books for Rs.420. Find the approximate overall percent profit earned by
Anshul by selling The History Books and Computer Books.

01. 9% 02. 12%
03. 6% 04. 8%
05. 10%

ST BT AT STAETd il TEd il 450 9 | 3T AT Foqe? i Teqeh 1 420 T4 H =T ST 8| AT S(Aere il Tedah ¥ Hoge i eash
FT A T YA FIT AT e AT T e T wfeerd g

01. 99 02. 12%
03. 6% 04. 8%
05. 10%

Solution for Question 51 Ans Key: 3

Q-52

Total cost price of all the History Books and Computer Books for Anshul

= (540%420) + (600x400) = 226800 + 240000 = Rs.466800

Total selling price of all the History Books and Computer Books for Anshul
= (540%x450 + 600x420) = 243000 + 252000 = Rs.495000

Percent profit = [(495000 - 466800)/466800]x100 = 6.04% = 6% approx.

YA o 1T afl 3ferRTe 3 e i T&h 1 Fel I
= (540x420) + (600x400) = 226800 + 240000 = Rs.466800
R BT sl 718 Wt 3fRT 3T e il G&eh 1 Fal fershoied

= (540x450 + 600x420) = 243000 + 252000 = 495000 L)

AT TfET = [(495000 - 466800)/466800]x 100 = 6.04% = 6% TN

Anshul sold each of the English Books at a profit of 10% on cost price and Vipul sold each of the English Books at a profit of 8% on cost price. Find the
difference between the selling price of all the English Books for Anshul and Vipul.

01. Rs.56600 02. Rs.44500
03. Rs.64800 04. Rs.38600

05. None of these
ST BT T 1 SUSH & T FIHT % 10% F AT T =T AT ST ATl FTT T SIS hl e I FALA 5 8% o AT T 5= 7 4T |
STQTT 3T¥ ot gTey | SISty T qeaant o fosha o % &= &7 a2 J1q Aoy |

01. Rs.56600 02. Rs.44500
03. Rs.64800 04. Rs.38600
05. = & A1E AR

Solution for Question 52 Ans Key: 3

eng

Cost price of the English Books = Rs.540

Selling price of all the English Books for Anshul = (480 x 540) x 110/100 = Rs.285120
Selling price of all the English Books for Vipul = (600 x 540) x 108/100 = Rs.349920
Required difference = 349920 - 285120 = Rs.64800

SIS ohT & 1 AT = 540 TR

Y[ G Sl 718 Wit SIS AT Tk T Torsh 79 = (480 x 540) x 110/100 = 285120 T
Tt g st 1S Tt SIS AT Tk 31 fosh 7 = (600 x 540) x 108/100 = 349920 T
3TE 3T = 349920 - 285120 = 64800 TTH




Q-53

What are the respective ratios of total number of all the five books sold by Anshul in the year of 2017 and total number of all the five books sold by Vipul

eng in the year of 2017.

01. 135:131 02. 129:121

03. 139:133 04. 131:127

05. None of these
Q-53 AW 2017 | YA FIT =T TS THT T = TEqAh! 1 o1 ST 312 a9 2017 § TG 1T =41 T TT T [Eaahi 1 et ST 6 S FAT SATIT
hi Zrm

01. 135:131 02. 129:121

03. 139:133 04. 131:127

05. i & T
Solution for Question 53 Ans Key: 4
eng Total number of all the five books sold by Anshul in the year of 2017

=450 + 540 + 600 + 480 + 550 = 2620

Total number of all the five books sold by Vipul in the year of 2017

=520 + 460 + 540 + 600 + 420 = 2540

Required ratio = 2620: 2540 = 131: 127

Y 2017 H S G Sl T3 BT T T ohT el S

=450 + 540 + 600 + 480 + 550 = 2620

Y 2017 H forqe ST si=i 7T |t Ol T&iohi hl el S

=520+ 460 + 540 + 600 + 420 = 2540

Ity AT = 2620: 2540 = 131: 127
Q-54 Total cost of all the Maths Books for Vipul is approximately what percent of the total cost of all the Computer Books for Anshul?

01. 449 02. 53%

03. 35% 04. 46%

05. 32%
Q-54  Taqe = forg |+ft o it qEae &1 HoT AT, LA  [or7 THT Foge? AT TETF FT Hel HALT T AT Fha T Tderd 82

01. 44% 02. 53%

03. 35% 04. 46%

05. 32%
Soiution for Question 54 Ans Key: 2
eng Total cost of all the Maths Books for Vipul =420%300 = Rs.126000

Total cost of all the Computer Books for Anshul = 600x400 = Rs.240000

Required percentage = (126000/240000)x100 = 52.5% = 53% approx.
hi ot % for &rft T it TFa F7 7T FIET = 420x300 =126000 =T

sterer o form aeft Feges it qFas FT HA FAIET = 600x400 = 240000 FT

arsfTe sfaerd = (126000/240000)x 100 = 52.5% = 53% TSN
Q-55 The number of Novel Books sold by Anshul in the year 2018 is 20% more than that of the previous year and number of the Novel Books sold by Vipul in
eng the year 2018 is 300 more than that of the previous year. Find the total number of the Novel Books sold by Anshul and Vipul in the year 2018.

01. 1240 02. 1360

03. 1530 04. 1080

05. None of these
Q-55 =T 2018 | ST FIXT =T TS ITATH il [EqF il el FEAT FHT (aegel a0t il T H 20% T2 & ¥ a9 2018 F F&orqer gy 5= 7 30741 it
hi T it H5EAT AT e At B qoAT H 300 SfAF g1 AT AT 2018 H St 3T Al FIT A=Y TS IT=ATH T TEAF AT FHoT HEAT At grRi

01. 1240 02. 1360
03. 1530 04. 1080



05. =% H AT T

Solution for Question 55

Ans Key: 2

eng

Number of the Novel Books sold by Anshul in the year of 2017 =450

Number of the Novel Books sold by Anshul in the year of 2018 =450x(120/100) = 540
Number of the Novel Books sold by Vipul in the year of 2017 = 520

Number of the Novel Books sold by Vipul in the year of 2018

=520 + 300 = 820

Required sum = 540 + 820 = 1360

N 2017 ¥ A R sl 75 IU-ATE hl T&eh hl Hel HEAT = 450

TN 2018 T A TR =l T IU-ATE Al T&ieh hl Fel HE&AT = 450x(120/100) = 540
¥ 2017 & forget gTr st 718 Iuware 3 TEieh s el AT = 520

Y 2018 T forqet ST s 71 U= sh1 Ik shl et T

=520 + 300 = 820

1TE FE&A1 = 540 + 820 = 1360

Passage for Question 56, 57, 58, 59, 60 (ST-2046SBICLMAINS(101-105M)2019)
eng Passage

Study the following table carefully and answer the questions that follow:

Five persons Sanjay, Pawan, Karuna, Kailash, Madhav invested different amounts in different rate for different time period. Some values are missing. Answer the
questions on the basis of given table and information in question.

Persons Type of Interest Principal Amount /Interest Year Rate

Sanjay Compound 216000 343000 3 IG%U

Pawan Simple - - 5

Karuna Compound 133600 1£EU

Kailash Simple 812000 357280 - 11%

Madhav Compound - 313600 119
hi Passage

rafafag aTfasT &1 samaga s Aeqqq 3 s T Awtoriaa w1 % 39 q:

T SATRAT G, T, FHEOI, HeAT9T, ATEE 7 AT T T - T THT 6 (7T STAT-RT TT1L7 1 Tarer 6T 7 99 qa 81 T 6 & T2
TICTaRT 3T STTRTLT o AT 9T 00 7 3T 2|

T s 216000 343000 3 15;?”
EE Tram . 2 5
B EET I 153600 - : 12%%
FEE TR 812000 357280 - 11%
z
Madhav | =Fafs - 313600 : e
Q-56 If the ratio of year of investment for Kailash to that of Madhav is P:Q which equal to the 2:1 then what is the Amount of Kailash if he invest for( P+Q
eng )years?
01. 535620 02. 545680
03. 556420 04. 535920
05. None of these
Q-56  Tf% FeAmer s wrera ¥ fAarer F 9 7 AT P: Q € SV 2: 1 F aw7aw & a1 AT g (P + Q) auf o forw farer #ar & v errer ¥ 77f2r #4471 82
hi

01. 535620 02. 545680
03. 556420 04. 535920



05. T A HIE T2

Solution for Question 56 Ans Key: 4
eng Value of P=
357280 = 81200 Px11
100
P=4
P+Q=6

812000 x6x11

Amount of Kailash if he invest for( P+Q )years = 533920

100
hi P T HIH=
357280 = S1200x Px11
100
P=4
P+Q=6
(P+Q) ﬁ%%ﬁﬁ?ﬁm‘cﬁrﬁhw =535920
Q-57  Ifthe interest is compounded yearly for three years then what is the amount to be earned by Karuna?
eng
01. 218500 02. 218700
03. 215400 04. 225600
05. None of these
Q-57 Il =TS o9 A1 o o1 Fa i & a7 FEOT G Ao 6l ST arett 797 47 82
01. 218500 02. 218700
03. 215400 04. 225600
05. =9 T AIS AT
Solution for Question 57 Ans Key: 2
Amount to be earned by Karuna=1s3500 i e 218700
T GRT AT TRT=153600 2| = 218700
Q-58 What is the Simple Interest (SI) of Pawan? If the ratio of Principal of sanjay to that of Pawan is 135:64 and the rate of interest is three times than that of
Karuna.
01. 192000 02. 195000
03. 193000 04. 194000
0S. None of these
- T T FTLTLT 547 (SI) FT 82 T T 3T Tae o TALTHRT AT 135: 64 T ST AT & FHE0IT % AT 5T hl AT o =
58 SI g2t ar F qa 7T 135: 64 7 3 kg EQ) TS
hi
01. 192000 02. 195000
03. 193000 04. 194000
05. T A FIE T2
Solution for Question 58 Ans Key: 1
eng Principal of Pawan is = w %64 = 102400
Rate of interest is=12.5%3=37.5
Simple Interest(SI) of Pawan=% =192000
hi WWH@W=211€;D_DDM4 —102400
>
S e =12.5%3=37.5
WEFFWWW=% ~192000
Q-59 If the Principal(P) of Madhav is 24100 more than that of Sanjay and the investment period of Sanjay is 50% more than that of Madhav then What is the

eng

amount of Madhav?



01. 313500 02. 312320
03. 313200 04. 313600

05. None of these
Q-59  =f< AT FT AL, HAT T TAAT | 24100 STFEF 7 37T Ty 7 arer srafer wvera it am § 50% SATEF  qT AT ht 107 747 62

01. 313500 02. 312320
03. 313200 04. 313600
05. w7 & S A
Solution for Question 59 Ans Key: 4
eng Principal of Madhav=216000+24100= 240100
Time of investment = : ?D %100 =2 years
5
Amount of Madhav =240100 xgx E =313600
hi HIES bl HeAeH = 216000+24100= 240100
wm=1? x100 =2 @A
T i R =240100 < S 2 — 313600
Q-60 If amount of Pawan becomes three times in the given time period then what is the Rate of Interest(%)?
01. 25% 02. 36%
03. 40% 04. 50%

05. None of these

Q-60  =fT S srafer § wad £ gaerelt i AT ST ST & AV AT 3T (%) FATE?

01. 25% 02. 36%
03. 40% 04. 50%
05. =77 T HE T&T
Solution for Question 60 Ans Key: 3
Amount of Pawan equals to three times in 5 years it means he received 200% interest in years so the rate of interest is = :E”:' = 40%
T 1 TR 5 O i T T B STt & g A & B 38 5 T 200% st firer & saf s e = 220 g,
Q-61 The sum of 5 consecutive odd numbers of set-A is 625. What will be the sum of set-B containing 5 consecutive odd numbers, if the smallest odd number of
eng Set-B is 16 more than the highest odd number of Set-A?
01. 756 02. 735
03. 745 04. 740
05. 725

Q-61  FT-AFT 5 FANTT GTH TEATHAT FT AR 625 & | H2-B AT 5 FHNIG (G0TH HLATHA HT AR FAT 0T, T1< Fe-B it TaH el e dea7 - A 6t
hi TqaH T HEAT H 16 ATIF 22

01. 756 02. 735

03. 745 04. 740

05. 725
Solution for Question 61 Ans Key: 3
eng Set— A: 121, 123, 125, 127, 129

Set— B: 145, 147, 149, 151, 153
Required Sum = 145 + 147 + 149 + 151 + 153 = 745

hi Set— A: 121, 123, 125, 127, 129
Set — B: 145, 147, 149, 151, 153
AT TRT = 145 + 147 + 149 + 151 + 153 = 745



Q-62

Rimi and Simi spend 60% and 75% of their respective monthly salaries in monthly expenditures. Simi kept 20% of the monthly expenditure as savings and

eng has given the remaining Rs.2100 to her sister. What was Rimi's monthly expenditure if his monthly salary is 33 1, » more than that of Simi? (Earning =
3
Expenditure + Savings)
01. Rs.16500 02. Rs.16800
03. Rs.17500 04. Rs.16200
05. Rs.18200
Q-62  Tft s T STaeiT 1T o | | FAL: 60% 3T 75% T Fd & FHT T ATHE 2T HT 20% T9d % ©F § T@T 3T AT 92 Hl AT %2100
hi %W|WWWWWW&%WWWWﬁwﬁ33100311‘@1%5%7(31Tuzaw+aa?r)
3
01. Rs.16500 02. Rs.16800
03. Rs.17500 04. Rs.16200
05. Rs.18200
Solution for Question 62 Ans Key: 2
eng Rimi's monthly expenditure = 2 % 21000 % g = Rs.16800
el =1 wrferes =77 - 3.01000% %: Rs.16800
- A can finish a price of work in 40 days. He worked alone for 15 days and then B joined him. Together they could finish the remaining work in 15 days, in
63 inish a price of work i day ked alone fi day 1 th joined hi gether they could finish tl ining work i days, i
how many days B alone can finish the same work?
01. 58 02. 45
03. 60 04. 75
05. 80
Q-63  ATHF FTH FI 40 AT § TeH FT THaT gl 39 15 A1 o g staver w19 T3 3 T B 396 17 Q9 21 97 | U |07 # of 15 &A1 7 90 w1
T T T 2, B 3Thel IHT T T {3 f@a1 § G20 F7 qhar8?
01. 58 02. 45
03. 60 04. 75
05. 80
Solution for Question 63 Ans Key: 3
. 15 3
Work done by A'in 15 days= —— — —
40 8
B 5
Remaining work = 1 —— = —
8 8
This work is done by (A + B) in = 15 days
Time taken to complete whole work by (A + B) = haiid 24 days
A 405 P 3
A <
A+B...24 5
. 120
Time taken to complete the work by B alone = @ =60 days
hi

A S 15 R d R e = 10 3
40 8

A FHE= |-

00 | W
o0 | h

JEFHE (A +B) gRI TR ST € = 15 faa

(A + B) BT 59 %2 o1 QT L 7 forarm o e = 15x3

xr




A s 40 3
>1za il
24 g

SF3rST B T o Y R = s <60 fe

A+B...

Q-64 Dhiraj invests 12% of his monthly salary i.e. Rs 5700 in Fixed Deposits. Later he invests 24% of his salary on Life insurance policies. Also, he invests 8%

eng of his monthly salary on Mutual funds. What is the total annual amount invested by Dhiraj?
01. Rs2,50,800 02. Rs2,17,612
03. Rs 1,05,672 04. Rs2,35,224

05. None of these
Q-64 TS 7 ST AIEF 0T FT 12%, ST 76 5700 70 & q1ater @ § Farer 3 3T are # S8 Tt 07 F7 24% Strae s A7 97 97 Fafea G
hi I AT AT T 8% AN FE | AT FRafera fomam fiwst grer @@ ad Fafera 7 € gaeafer sma w42

01. 250,800 T 02. 217,612 F9F
03. 1,05,672 7% 04. 235224 79
05. =9 T H1E AT
Solution for Question 64 Ans Key: 1

(12x/100) = 5700

x =Rs 47500 (Monthly income)

Total monthly amount invested by Dhiraj = 47500 x (12+24+8) % = 47500x (44/100) = Rs 20,900
Total annual amount invested by Dhiraj =20900%12 = Rs 2,50,800

(12x/100) = 5700

x = 47500 w5 (i 37)

ST % g1 TeRT 1 T8 o ATfeeh g

= 47500 x(12+24+8) %

=47500%(44/100) = 20,900 z==x

oI o BT Frem ot 75 o anfes g = 20900x12 = 2,50,800 Tt

Q-65 In order to get atleast once a head with probability P> 0.9, then find number of times a coin needs to be tossed?
eng

01. 4 02. 5

03. ¢ 04. 7

05. None of these
Q-65  TRIFAT P>0.9 F AT FF F FH UF AL &€ TTH Fd & (70, fhaet ae g &1 3sTar S

01. 4 02. 5
03. 6 04. 7

05. =98 qFIS A5l
Solution for Question 65 Ans Key: 1

eng We know that,
n_
Condition of atleast = z_nl 20.9
2
1 n
1- G) 209

2>
n=4

hi 9 S & fop,
FH U FA A Rofr=2 1 209

2“
1
1- G) 209



2">10
n=4

Passage for Question 66, 67, 68, 69, 70 (ST-22IBPSPOPRE(1-5R)2021)
eng Passage

Study the following information carefully and answer the question given below.

A certain number of persons is sitting around the circular table. All of them are facing towards the centre. The distance between any two adjacent persons is the
same. A is facing P, who is sitting second to the right of T. S is facing L, who is sitting fourth to the right of C. None among S, C and L is an immediate neighbour of
P. The person, who is sitting four places away from T, is not an immediate neighbour of C. M, who is sitting seven places away from T, is not an immediate
neighbour of A. At most 13 people sit around the circular table.

hi Passage

fRafafya srasrd &1 sqmgd® sggaa R TR fRroag g Frsacd

FRITT | o AT AT U AT @ear § =AE 9 1 37 a9 %7 @ F% 67 AT g Fhegl &7 e SARRAT & 1+ ol g0 G919 2

AFTHE PAT AT E, ST T F T T T T ST 81 S FTHE LAT T E, ST C F 3134 A1 S T AT 81 S, C 3T LH T AL o P FT Fohret TSy Tt
g1 g =ARE, ST T H AT TATH X 927 8, C FT TohTd TS Tei gl M, ST T 8 A7d #1932 931 ¢, A FT T TSIET Fal gl SATET F SATAT 13 ART g
ST 3 AT 3 )

Q-66 How many people are sitting around the table?
01. 11 02. 9
03. 10 04. 13

05. None of these
Q-66 ™ FRT AT F AT AT TS B2

01. 11 02. 9
03. 10 04. 13
05. =9 & FIs AT
Solution for Question 66 Ans Key: 5
1 - -
TP
L = a S
T
hi -
M
As 4 Y ¥ s
aa A,
e -(:—
| AW A
: P
L e a [
T

Q-67 How many people are sitting between M and A, when counted from left of A?
eng

01. One 02. Two
03. Three 04. Four



05. None of these
Q-67 M 3T A% fi= farae T 9 2, ST AF a0 & {47 Srav 22

01. T 02. =y
03. &= 04. =TT
05. =% & F7E T

L - AP
" ?Q“TT*’% \

T

Q-68  Which of the following statements is true?
eng

ey @8
0L A L% &T0 e e o7 21 02. S, P 2T AT FET T 8N
3. T, S ¥ &0 e T 427 21 04. C, M ¥ T 2T &7 337 21
05w A E

Solution for Question 68




Q-69 In a certain way, A is related to C and T is related to L and in the same way, who among the following person is related to S?
eng

01. C 02. M
03. p 04. L

05. None of these
Q-69 UFWfEEalF &, A, C F Hafed & 37T T, L 7 Safad 2 oiie 3 a3, Mo § 4 #19 S & #afeq g2

hi
01. C 02. M
03. p 04. L
05,z & E T
Solution for Question 69 Ans Key: 1
eng C
il
A5 4 Y ¥ s
ES F
. - —
Q-70 Who sits at an even numbered place?
01. C 02. M
03. L 04. A

05. None of these
Q-70 ¥ H&AT dTel ¥419 G i 951 &7
hi

01. C 02. M
03. L 04. A
05. =% FAIS Al
Solution for Question 70 Ans Key: 2
eng c
M
& i < v & s
a i
3 - b
L 4 . ST
T
hi c

M



. “._ O3
—t -
10
3} W b ;
. P
L o -1 A _u-
= : 12
T

Passage for Question 71, 72, 73, 74, 75 (ST-22IBPSPOPRE(6-10R)2021)
eng Passage

Study the following information carefully and answer the questions given below.

Seven persons A, B, C, D, E, F and G travel in three different cars viz, Honda, Maruti and Tata. Each of them likes different colours i.e. Yellow, Red, Black,
Green, Blue, White and Pink (but not necessarily in the same order). At least two persons travel in each car.

B travel in Tata only with the one who likes red. B does not like black or white. C likes green and travel with the one who likes Yellow. A and G travel in the same
car but none of them likes Yellow or white. D does not travel in Tata or with C. A does not like black. E does not like red. F does not travel with the one who likes
blue. The one who likes white does not travel to Maruti.

hi Passage

fafafaa TTasTd &1 eamgd® qeqqT F:L ATA= frwag v ® s

T =ARE A, B, C, D, E, F 3fT G I SToT-37e17 10 S 2ieT, &I AT T | ATAT F3d 2| ITH & TF FT A= T A7 T1T, AT, FreAT, 22T,
e, T ST T T 2 (Srfeh ST A2 T THT 0 H B TeAT FIE H FH F FH T SAE ATAT Fd & 1B FaeT ATl W7 TEHE FIA a1l 2Tk F 6T
1T | ATAT FHLAT g1 B T FTAT 7 A%E T9E Agl 21 C T 247 W1 IHE g 3T 9 TAT 37 76 Fee a1l F Hq1 ATAT FLAT 21 A T G UF 21 F1< & I
FOA & AT 30 & &re AT dTT JT T%8 T[N I6E Tl F¢dT g1 D 21T & AT C F A1 ATAT 751 H2aT gl A FT HTAT WM T6E Tgl gl E T AT T6E 7g1 gl F,
1T [T TEHE A 7T F AT ATSAT Aol H2aT 21 AHE 3 THE T ITeT A <h ATEI 0T TTST Aol HaT g

Q-71 Who among the following travels with D?

01. A 02. B
03. G 04.

05. Both (1) and (3)
Q-71  f=forfad @ § F19 D 5 12 I77 Ha1 872

es]

01. A 02. B

03. G 04. E

05. =T (1) 3T (3
Solution for Question 71 AnsKey: 5
S0 CARS Persons{Colors)

Maruti C(green), E (yellow)
Honda| A(blue), D{white), G(black)
Tata B(pink), F{red)

hi FIT cgfFa(Tam)
ATST C(@TM), E (Irem)
85T | AFET), D[ESS), G(ETe)
TIeT B(3[ITET, F(eTTe)

Q-72  Who among the following likes Black colour?

eng
01. A 02. D
03. B 04. G
05. E

Q-72 fRwforfea # & o Frer 41 HE 82

hi

01. A 02. D



03. B 04. G
05. E
Solution for Question 72 Ans Key: 4
eng CARS Persons{Colors)
Maruti C(green), E (yellow)
Honda| A(blue), D{white), G(black)
Tata B(pink), F(red)
hi HT cafda(Tm)
AFfa C(&M, E (dem)
BIST | A(TeT), D(AHE), G(aHTeM)
TTeT B(3[eITET, F(TeT)
Q-73  Alikes which colour?
eng
01. Blue 02. Black
03. Pink 04. White
05. Red
Q-73 AT & A7 THE 872
01. e 02. =TT
03. I@TET 04. a%3
05. 1T
Solution for Question 73 Ans Key: 1
CARS Persons(Colors)
Maruti C(green), E (yellow)
Honda| A(blue), D(white), G(black)
Tata B(pink), F(red)
FIT cofEa(Ie)
ATST C(&m, E (frem)
BIST | A(ATE), D(EWHE), G(ShTe)
TIeT B(3ETTET, F(aTeT)
Q-74 Who among the following travels with E?
01. B 02. C
03. D 04. A
05. G
Q-74 FwfafEd § & F19 E F 972 AT F2qT 872
hi
01. B 02. C
03. D 04. A
05. G
Solution for Question 74 Ans Key: 2
eng CARS Persons{Colors)
Maruti C(green), E (yellow)
Honda| A(blue), D{white), G(black)
Tata B(pink), F(red)
hi FT g ()
AFfa C(&M, E (dem)
§IST | A[FIE), D(FHE), G(FTe)
TTeT B(3[eITET, F(TeT)




Q-75 ‘Who among the following travels with the one who likes Pink colour?

eng
01. A 02. D
03. F 04. C
05. E

Q-75  fAwforfea & & Fie [Tt 7 THT FEA AT % AT ATAT FAT §2
hi

01. A 02. D
03. F 04. C
05. E

Solution for Question 75

Ans Key: 3

eng CARS Persons{Colors)

Maruti C(green), E (yellow)

Honda| A(blue), D{white), G(black)
Tata B(pink), F{red)

hi F g tFa(Tan)
ATl CEM, E (drem)
BI5T | ATT), DESE), G(FHTeM)
TTeT B(Z[ATET, F(<TTeT)

Passage for Question 76, 77, 78, 79, 80 (ST-22IBPSPOPRE(11-15R)2021)
eng Passage

The following questions are based on the four words given below.

EVIL MYTH DONE AGED

hi Passage
frafeafag v = R TT I assi g sratha g1

EVIL MYTH DONE AGED

Q-76 If the positions of the first and the third alphabets of each words are interchanged, which of the following word is/are meaningful word with the new

arrangement?
01. AGED 02. EVIL
03. MYTH 04. DONE

05. Both 1 and 4
Q-76 T[T T 9158 o Tg ST AL A& F T F& (AT T, AT 75 | F FI9-97 9758 T FAEAT F AT AT 9758 872

01. AGED 02. EVIL
03. MYTH 04. DONE
05. Both 1 and 4

Solution for Question 76

Ans Key: 5

eng After rearrangement,
Meaningful words are EGAD and NODE

hi ST F A%,
ST &% & EGAD 3T NODE

Q-77 If all the letter of the each word are arranged in the descending order within the word. How many words are starting with vowel?
eng

01. Two 02. One
03. Three 04. Four
05. None



Q-77 T AT 9158 F THT AT 953 % WY TGl HH § AATEAT (o ST & a7 T2 & L g ATl [ohal e 9158 52
hi
01. =¥ 02. T
03. fi= 04. =T
05. T L
Solution for Question 77 Ans Key: 2
eng After rearrangement,
Words that start with a vowel is ONED.
hi IAHAET F ATT,
T F | & g1 ATAT &758 ONED 2l
Q-78 If all the letters in each of the words are changed to the previous alphabet according to the English alphabetical then how many words having one vowel will
eng be formed?
01. Two 02. Four
03. One 04. Three
05. None
Q-78  =fe wT o5z & T STeAT AT SHUST AVHTAT & STAAT IS a9 H F&e (AT 7T T TF a2 AT Foha o 9761 a2
01. =7 02. =%
03. = 04. =
05. < 72t
Solution for Question 78 Ans Key: 3
After rearrangement,
One word is formed with one vowel ie; EVIL-DUHK
AT & 1T,
T T F Teh 958 99T & FA7d; EVIL-DUHK
Q-79 How many letters are there in the English alphabetical series between the third letter of the word which is second from the right and the first letter of the
word which is third from the left of the given words?
01. E[gh[ 02. Two
03. Four 04. Nine
0S. Seven
Q-79  TRUIT el H FTH BIY H THL A7 FT ATHLT &L AT a4 T F (19 53 6 Tgel AT 6 J 1+ SS{ ATt ga@dr § fhaer s7ew 82
01. =% 02. =7
03. =TT 04. 7
05. H1T
Solution for Question 79 Ans Key: 4
eng After rearrangement, the second from the right end and third from the left end is the same word i.e.; DONE
Hence, nine letters are between D and N.
hi TAHAEAT % TS, I0 BT & TALT T ATT BT & AT TF & €757 & 747d; DONE
AT D 3T N F 1= A7 AT &
Q-80 If in each of the given words each of the consonants is changed to next letter and each vowel is changed to previous letter in the English alphabetical series,
eng in which of the following word will be formed more than one vowel?
01. DONE 02. AGED
03. EVIL 04. MYTH
05. Both 1and 4
Q-80  =fx w0 Toue 9rex § AT AN Fl SIS AVHTAT AT F S &L H ST T4 a2 &l (Ugel a7 # a& (a7 o0, a1 fefafaa § 8
hi o ooz H we T srfereE TaT A= T

01. DONE 02. AGED



03. EVIL 04. MYTH

05. 13T 43T
Solution for Question 80 Ans Key: 5
eng After rearrangement,

Two words are formed with more than two vowels.
MYTH- NZUI, DONE-ENOD

hi AL F TR,
I STA ¥ 7 aT 9158 a9 2
MYTH- NZUI, DONE-ENOD

Passage for Question 81, 82, 83, 84, 85 (ST-22IBPSPOPRE(16-20R)2021)
eng Passage

Study the following information carefully and answer the questions given below.

Eight people P, Q, R, S, T, U, V, W are sitting around a square table such that persons sitting at the corners face inside and the one at the middle of the sides faces
away from the centre. V sits 2nd to the right of T. Q sits exactly between T and U. R sits 2nd to the right of the one who is 3rd right to T. P does not face towards
the centre. Two persons sit between V and S. No two persons are sitting adjacent to each other according to the English alphabet (i.e. P is not next to Q, Q is not
next to P and R and so on...)

hi Passage
af T STasTd F 1 sqMga T ATIT HL SHTHATH FrT g a3t F IATRN

Az =ARE P, Q,R, S, T, U, V, W UF aTHIT A & AT 3T TH THTT 95 ¢ [ A1 UL 95 SARETT 67 TG Feg 1 AT g 3T SIT3H F HeF § 95 Af<h F7
T %3 ° dTgL f AT gl

V, T % T3 oY T I I3T 81 Q, T 3T U F ¥ 1+ H 937 g R 3 SATH & a3 gAY T I 31 ¢ ST T 3 273 q6L #19 9T gl PFT qF %7 i 317
TEl g1 V 3T S F = 27 =41k 9% &1 TS AUHTAT & SIqaTE F1 91 &1 A1h UH-THL F A6 T8l 95 & (FATI P, Q F T § 7=l &, Q, P 3T R F A
LY 2 ST T ave o)

Q-81 Who among the following sits 3rd right to the one who sits immediate to the left of V?

01. R 02. p
03. U 04. W
05. Q

Q-81 g H A FF V F 21 910 I a1 AT<h % I3 9T 937 82

01. R 02. p
03. U 04. W
05. Q
Solution for Question 81 Ans Key: 3
eng w P v
1
N |
S—— —=R
| "
1Y Y
L w p v
1
N |




YO
Q-82  Who among the following sits opposite to S?
eng
01. R 02. p
03. U 04. w
05. Q
Q-82 sEfATEHE F2rE?
hi
01. R 02. p
03. U 04. w
05. Q
Solution for Question 82 Ans Key: 1
eng w P v
1
N\ I
S+—— —R
ia b %
W P Vv
=
Se—— ——R
Ih N
Q-83 Four of the following five are alike in a certain way and hence form a group, which among the following does not belong to that group?

01. R 02. p
03. U 04. S
05. Q

Q-83 [Awfoiad o= ® & A7 UF M aia & 990 ¢ 3T TH0 UF T4 a91d &, [MEriad | 7 Fi4 39 94g J Gated T2 82

01. R 02. p
03. U 04. S
05. Q
Solution for Question 83 Ans Key: 3

eng W

P
1
I

n——
—




'.\

|
Q

Q-84 If in a certain way T is related to V, W is related to U then who among the following is related to Q?

eng

01. R
03. U
05. T

Q-84 Iz ux [Tl & T,V FaAT 8, W, U R 5afea g, a1 Fefrtad § § %1 Q & #afad 282

01. R
03. U
05. T
Solution for Question 84

W P Vv
\ {
N |
S+—t— —+R
™
Q )]
w p Vv
\
N
S—— —5 R

N

;

\

02. p
04. W

02. p
04. W

Q-85  Who among the following are immediate neighbours of W?

eng

01. R.Q
03. U,V
05. None of these

Q-85 fRwfofaa # &+ W fsedw w=ret &2

hi
01. R, Q
03. U,V
05. et 78
Solution for Question 85
eng w P
1
N\ I
G—— —

02.
04.

02.
04.

P,S
S, T

P,S
S, T

Ans Key: 1

Ans Key: 2



-

—0

SR

Passage for Question 86, 87, 88, 89, 90 (ST-22IBPSPOPRE(21-25R)2021)
eng Passage

Study the following information carefully and answer the question given below.

In a certain code language,
‘Knife cut knot within’ is coded as ‘PK XE PP DJ’.
‘Serious problem coming way’ is coded as ‘HQ KN XK DY”.

‘Rain increase danger level’ is coded as ‘IC RC WI OX’.
‘Blood goes from vessel’ is coded as “YQ TQ UT EU”.
Find the codes on the basis of the above coding system.

hi Passage

rafafag STasTd £ 1 5qmga T stegaT R A= Rurrarsrsac

s At e 9T A,

“Knife cut knot within’ T ‘PK XE PP DJ’ & &9 # &Fifed 4T 13w ?II

‘Serious problem coming way’ #T ‘HQ KN XK DY’ % &7 H Ffed fora1 127 2
‘Rain increase danger level” &T ‘IC RC W1 OX’ & &9 ¥ #rfed fraT 1m 2
‘Blood goes from vessel’ F1 YQ TQ UT EU’ & &9 ¥ #hif2q Fhar 71T

ST TSI TUTST 3 SATETY TX IS AT i oTT

Q-86

Find the code for “Measurement”.

01. MH 02. NG
03. GL 04. VM

05. None of these
“Measurement” F f%ﬂ'{ FIS AT ﬁﬁf"{l

01. MH 02. NG
03. GL 04. VM
05. =i 7 AT T

Solution for Question 86

Ans Key: 2

eng

The first letter of the code represents the reverse letter of the first letter of the word.
For Example- Cut

The reverse of the first letter of the first word i.e. C is X.

Thus code will start with “X".

The second letter of the code represents the second next letter (as per the alphabet series) of the third letter from the right end.

The third letter from the right end is C, thus its second next letter as per the alphabet series is E.
Thus “Cut’ is coded as XE.

FIE T TEAT AEAT 9158 & Tgol AT o [AILId Teq< T F907aT &l

IaTgr  foru- Cut

TE 953 o Tgel AT ATAT C FT 37T X &l

TH T HE X' H F gRm

IS T AT FAL ITC ST A AEL AT F AL I AL (TUHTAT AT F ATATY) FT T (A& FHaT gl
ZT3 G & A6 9T C §, TH T ANHTAT AT % SITHTT THHT FELT FIAT AT E B

TH T 'Cut' % XE F &9 § Fifed & Sm@r g



Q-87

eng

Find the code for "Silky Reptile".

01. HQ OP 02. HN 0OQ
03. UQIK 04. HNIK

05. None of these
"Silky Reptile" % forw e Fi1a it

01. HQOP 02. HN 0Q
03. UQIK 04. HNIK
05. zerit iy S

Solution for Question 87

eng

Q-88

Q-88

The first letter of the code represents the reverse letter of the first letter of the word.
For Example- Cut

The reverse of the first letter of the first word i.e. C is X.

Thus code will start with “X".

The second letter of the code represents the second next letter (as per the alphabet series) of the third letter from the right end.

The third letter from the right end is C, thus its second next letter as per the alphabet series is E.
Thus “Cut’ is coded as XE.

FTE FT TEAT AT =7 o TE ST F (AT T HT 39077 2

IETEL0T % feU- Cut

Tl 9162 *h T2l AT ATHT C T a7 X 2

TH THR FE X' F OF g

FTE T T AL AU FIT A L SAEL F L A AT (FUATAT HEAT 6 ATATL) FT (ARG F a7 2
T IR F T FT C 2, TH T TUHTAT HEAT % FTH ST THL STAT A& E 2

TH T 'Cut' T XE F &9 # FHifed & s 2

Code 'MV' stands for which of the following?

01. Naughty 02. Notch
03. Nestle 04. Nimbus

05. Both2and 3
e MV Feferfea & & fms oo g2

01. Naughty 02. Notch
03. Nestle 04. Nimbus
05. T 2 3T 3

Solution for Question 88

Q-89

eng

The first letter of the code represents the reverse letter of the first letter of the word.
For Example- Cut

The reverse of the first letter of the first word i.e. Cis X.

Thus code will start with “X”.

The second letter of the code represents the second next letter (as per the alphabet series) of the third letter from the right end.

The third letter from the right end is C, thus its second next letter as per the alphabet series is E.
Thus ‘Cut’ is coded as XE.

FTS T TZAT AEAT 953 % Tgol AT (AT ST T F9rTar 2

IaTE % for- Cut

TG 953 F Tge FAT ATAT C FT 37T X &

TH THIT &I X' & F R

TS T FET FAL I B A AEL T F AL I FEL (TTHTAT H@AT o ATATY) FT A8 FHeaT gl
T I A A6 AT C &, TH THTE FUHTAT AT o TTHTE THHT AT AT 847 E B

TH TH 'Cut' FT XE F ®7 § Fifed AT JaT 3

Find the code for "Stunning Model".

01. HF NK 02. HK NF
03. HK MF 04. HF NO

05. None of these
"Stunning Model" ¥ f%'l'Q' FIS AT ?ﬁfeﬂl'l

Ans Key: 4

Ans Key: 5



01. HF NK 02. HK NF

03. HK MF 04. HF NO

05. =z & A T
Solution for Question 89 Ans Key: 2
eng The first letter of the code represents the reverse letter of the first letter of the word.

For Example- Cut

The reverse of the first letter of the first word i.e. C is X.

Thus code will start with “X".

The second letter of the code represents the second next letter (as per the alphabet series) of the third letter from the right end.
The third letter from the right end is C, thus its second next letter as per the alphabet series is E.

Thus ‘Cut’ is coded as XE.

hi TS T TZAT AL 9T5% h Tgol AT (AT STqT T F9rTaT 2
IaTE & for- Cut
TG 953 F Tgel FEAT ATAT C FT 3T X &l
TH THIT &I X' & F R
TS T FET FAL IT0 B A AEL T F AL I FEL (TTHTAT AT o ATAT) FT A (18 FHaT gl
T3 G & AT AT C &, TH THTL AHTAT AT F STHTT TEHRT FELT AT AT E B
TH TH 'Cut' FT XE F ®7 § Fifed AT Ja1 3

Q-90  Find the code for 'Raw string'.

01. ITHK 02. ITBP
03. HTIK 04. KTHB

05. None of these
Q-90 'Raw string' 10 &re F1q fforo)

01. ITHK 02. ITBP
03. HTIK 04. KTHB
05. =8 ¥ FTE T
Solution for Question 90 Ans Key: 1

The first letter of the code represents the reverse letter of the first letter of the word.

For Example- Cut

The reverse of the first letter of the first word i.e. Cis X.

Thus code will start with “X’.

The second letter of the code represents the second next letter (as per the alphabet series) of the third letter from the right end.
The third letter from the right end is C, thus its second next letter as per the alphabet series is E.

Thus ‘Cut’ is coded as XE.

TS T TEAT SAETL 9Te2 o Tgol AL 3 (AU AT T 90T 2|

?’*‘I—?'TUT%%W— Cut

TE 9Te2 *F T2 AT AT C T IeaT X 2l

TH T AT X' & F gh

TS T AL AL 10 H 6L AT F L A AL (TTHTAT @A F ATATL) FT T4 FTaT gl
T I | 16T A7 C &, TH THIY AVHTAT H@AT 6 TIHTE THHT ZAT 37T 7817 E 2l

TH YHTY 'Cut' FT XE F &9 § FHIfSd (3T AT 81

Passage for Question 91, 92, 93, 94, 95 (ST-22IBPSPOPRE(26-30R)2021)
eng Passage

Study the following information carefully and answer the question given below.

Eight people P, Q, R, S, T, U, V and W were born in four different months viz. January, February, March and April of the same year. Each of them was born on
two different dates 9th and 16th but not necessarily in the same order. V was born in a month having the least number of days. Three persons were born between
V and U. S was born before V but not in the same month. Five persons were born between Q and R, who was born after Q. T was born before W and both of
them were born on the same date. P was not born on an even-numbered date.

hi Passage

frafafaa STasrd w1 samgd® Aegga v A= Ruagwrsreacd

A AP, Q,R, S, T, U, V T W THIT Y & FATT. AT-AT HelA | AT STal, Fady, A4 T o § 42T g0 A1 ITH & AT T S0 &I FeT- 31T
TATEET 9 3T 16 T g1 AT AT STEAT Al SHT HF H gl V FHT ST qa& FH (a1 AT Al § g1 AT| V 3T U A= A1 SATHRIT 7 SI77 g1l S T o7
V ¥ Tl g 9T AT THI Weld § dgl gall Tl Q 37T R, ST Q ¥ &1 F7T g3 o, & &= ui ATRAT 7 S+7 gal| T, W H Tl TaT g3 T 30 39 2t
FT ST T &1 AT HT g AT| P T SR §7 FEAT ATl QI 1 gl gl =l




Q-91

eng

eng

S was born on which of the following dates?

01. 16th Jan 02.
03. 9th March 04.
05. 9th Feb

S o7 e ferferterd ® & o e i1 gar 9m?

01. 16SHa 02.
03. 9um= 04.
05. 9wy
Solution for Question 91
9th | 16th
January | S | Q
Februarv| V| T
March Pl W
April U R
9th | 16th
s\l | S | Q
GIa |V | T
A | P | W
e | U| R

Q-92

Q-92

eng

Who among the following was born on 16th February?

01. Q 02.
03. W 04.

05. None of these
Ferfera § & #1716 LAl 1 T1T g An?

01. Q 02.
03. w 04.
05. =it i e T
Solution for Question 92
9th | 16th
January | S Q
February| V| T
March | P | W
April U R
9th | 16th
Seail [ S | Q
wIE | V| T
A [P | W
ater Ul R

16th March
9th Jan

16 919
9 SHaT

Ans Key: 4

Ans Key: 2



Q-93

eng

eng

How many persons were born between S and W?

01. One
03. Three
05. More than four
S 3T W & = foha =afer eT gu o
01. u=
03. &9
05. =77 & srfer
Solution for Question 93
9th | 16th
January | S Q
February| V| T
March Pl W
April U R
9th | 16th
JAad | S | Q
BE [ v T
AT (P | W
aer | U| R

Q-94

Q-94

eng

How many persons are younger to P?

01. One
03. three
05. More than four
P& e =af=r gie 22
01. u=s
03.
05. 7% & rfarw
Solution for Question 94
9th | 16th
January | S | Q
February| V| T
March Pl W
April Ul R
9th | 16th
Seqadl | S| Q
wLEdr | V| T
A | P | W
ader | U| R

02.
04.

02.
04.

02.
04.

02.
04.

Two

Four

oy

Two

four

Ans Key: 4

Ans Key: 3



Q-95  Who was born between W and R?

eng
01. S 02. v
03. T 04. p
05. U
Q-95 W T R &= 7 TaT ger am?
hi
01. S 02. v
03. T 04. p
05. U
Solution for Question 95 Ans Key: 5
= 9th | 16th
January | S | Q
February| V| T
March Pl W
April Ul R
. 9th | 16th
Sedad | S | Q
B@Ed | V| T
A | P | W
ater | U | R

Passage for Question 96, 97, 98, 99, 100 (ST-22IBPSPOPRE(31 -35R)2_O'21)
eng Passage

In the question below are given two statements followed by two conclusions numbered I and II. You have to take the given two statements to be true
even if they seem to be at variance from commonly known facts. Read the conclusions and then decide which of the given conclusions logically
follows from the two given statements, disregarding commonly known facts.

hi Passage

= feg e I & ST w9+ fRrgag g Sea a1 e [T 1 fRoag g v fRu T F9=1 T AT ATAATE, T T A gdAma asa a
o wfta gra g1 )| fAset #1798 s e aa X f g g faseat & & w a1 s arara €7@ 917 3971 #11 srag AT 39 g fauag
T FITT FTATIRF TTE ATALT FIAT R

Q-96  Statements:

eng Most of Sharp are Pen.
All Pen are Pages.
No Pen is Clipboard.
Conclusions:
1. Some Sharp are not Clipboard.
II. All Pages are Clipboard.

01. Ifonly conclusion I follows. 02. Ifonly conclusion II follows.
03. Ifeither conclusion I or II follows. 04. TIfneither conclusion I nor II follows.

05. Ifboth conclusions I and II follow.
Q-96 =Y
hi SAferTer amd, U9 81

ol 9, I 2

TS B, Freras T 3

Ao

L. %3 Ty, fFraere 981 81

1L T+ O, faeras €



01. =fE Fae fAehd [ ST F2ar 2

02. FfT Faer fAewy 11 FTE F2aT &l

03. fE a7 a7 Ao [ 97 [l e Far g1 04 If 7 a7 e [ 377 7 2 11 STa<or 7t &

05. rfe fe [ 3/ 11 24T STEeT 3 g

Solution for Question 96

Ans Key: 1

eng

clipboard

Q-97

eng

Q-97

Statements:

All Dolls are Beautiful.
Minimum Toys are Beautiful.
All Toys are Classic.
Conclusions:

I. Some Beautiful are Classic.
I1. No Beautiful are classic.

01. Ifonly conclusion I follows.
03. TIfeither conclusion I or II follows.

05. Ifboth conclusions I and II follow.
FAT:

Tt AT, g7 El

e fe, a7 gl

Ty fereti, F=Tiers 2|

Ao

L. %% &Y, FAT gl

1. T HaT, FATMAF 21 8l

01. f% Faer fAeaT [ ST F7aT 2
03. rf =1 7 fAesed [ 37 11 ST F2ar 2|
05. rfx {1 i< 11 ST ST 2 2

Solution for Question 97

02. Ifonly conclusion II follows.

04. TIfneither conclusion I nor II follows.

02. =rfy S ATt 1 AqE0T F2aT 2
04. Ff T T FIHT [ 377 7 &7 11 SITET F2aT g

Ans Key: 1

Beautiful
hi
Q-98  Statements:
eng All Bottle are Glass.
No Bottle is Plate.
All Plate are Steel.
Conclusions:

1. Some Glass are not Plate.
II. Some Steel are not Bottle.



01. Ifonly conclusion I follows. 02. Ifonly conclusion II follows.
03. Ifeither conclusion I or II follows. 04. Ifneither conclusion I nor II follows.
05. Ifboth conclusions I and II follow.

01. =f% Faer fAehd [ SaoT F2ar 8 02. 7fT Faer fAewy 11 FTae FaT &
03. rfy =7 a1 Aoy 13T [ s #xar gl 04, fe 7 a7 A 18 7 &Y 11 1|20 F2dT 2
05. rfe fe [ 3/ 1 2T STEeT 3 g
Solution for Question 98 Ans Key: 5

eng

Bottle

Q-99  Statements:
All Mouse are CPU.
No CPU is Phone.
Maximum Phone are keys.
Conclusions:
[. Some keys are CPU.
II. No Mouse is Phone.

01. TIfonly conclusion I follows. 02. Ifonly conclusion II follows.
03. Ifeither conclusion I or 1T follows. 04. If neither conclusion I nor II follows.

05. Ifboth conclusions I and II follow.
Q-99 HY:

Tt AT, Hd £

TS HId, B9 781 2

oA

SlesaH DI, 4ot ol

L 7 2, i
I1. &1 9739, I T8 8l

01. =fx Fae Aehd [ SaoT F2a1 2 02. 7Ty Faer Ay 11 SITET F3aT 2
03. Frfy =7 a1 Ao 13T [ e #xar gl 04, 7fe 7 a7 At [ 8 7 2 11 T80T FaT 2
05. rfe fe 3/ 1 241 STEe0T 3 g
Solution for Question 99 Ans Key: 2

eng

CPU ' ‘




Q-100

eng

Q-100

Statements:

All red are Blue.

All Blue are Green.

No Blue is Brown.
Conclusions:

1. Some Brown are Green.
II. Some Brown can be red.

01. Ifonly conclusion I follows.

03. Ifeither conclusion I or II follows. 04. Ifneither conclusion I nor II follows.

05. Ifboth conclusions I and II follow.
FIT:

01. =f% Faer fAehd [ ST F2a1 2 02. IfT Faer fAewy 11 AT F2aT &
03. rf a7 7 Aok [ a7 1l srgeeor Fzar 21 04, 7fa 7 a7 e [ 8ire 7 1 11 Stgaeor F:7ar 2

05. rfe fe [ 3/ 11 21 STTEe F3d gl

Solution for Question 100

eng

hi

Blue

02.  Ifonly conclusion II follows.

Ans Key: 4



